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CTET Question Paper 7 July 2024 (TGT)
) _ PART -1/ ¥ - |
CHILD DEVELOPMENT AND PEDAGOGY / a1e fa@r 9 Riameme
Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options.
T : freafefea Fet (9. & 1 @ 30) % 3w &1 % g wey/maw 3957 faded JAT/

1. Assertion (A) : Teachers should respect the individual differences among learners and adapt
their teaching to cater to needs of all students.

Reason (R) : Collaborations, group works and interactions among students should be avoided
while teaching a class of diverse learners. -

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
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commonality in Piaget and Vygotsky’s theories is :
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= AKey gement of children in their own learning.

(1) [nvolvement and enga
(2) The role of culture in the cognitive processes.
(3) Their views of relationship between language and thought.
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Which of the fol

lowi ; il .
of students ? owing correctly describes ‘culturally responsive teaching’ to cater to diverse groups

(;) IJ-'tteiltionaI (i) Adaptive (iii) Differentiated  (iv) Standarci;zéd
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According to Jean Piaget how arexc d'uldren different from adults ?

(1) Children’s thinking is qudlifatively different from that of adults.
(2) Children’s thinking is qua;tatively different from that of adults.
(3) Children are dependent on adults while adults are independent.
(4) Adults are much more knowledgeable than children.
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are a teacher who wants to help your students develop metacognitive skills. Which of the

i};llowmg strategies is most likely to foster this type of thinking ?

Providing students with summarised notes for assignments.

)

) Assigning homework that requi:es memorization and recall.

3) Giving students marks mSEad of qualitative feedback on their performance.
4 E ncouraging students to :=e£1___ on their own learning and thinking processes.

m@ﬁm%ﬁmﬁmﬁmmﬁmmﬁmmmgl frefefas § @
w@ﬁﬁmm%ﬁmﬁmﬁﬁmwwwﬁm%a

et 371 i i 3 Fo B A e
Wmﬁﬁmmuﬁﬁﬁﬂmmﬁaﬁmﬂmaﬁ%.

Sl SR e WO FfTyfE & aS o <

i T T 3 i sl S ) s e e % o e e

(1)
)
®)
(4).

3

p-11 L )



i age and thought ?
According to Ley Vygotsky what is the relationship between languag

(1) Language ang thought are independent of each other A
() Language ang thought are complex interrelated processes o P

(3)  Language does not shape thought
(4)  Thought shapes language
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(1) Naturalistic Intelligence (2) #Bodily- Kinesthetics Intelligence
(3) Linguistic Intelligence (4}»%,___!§nter-personal Intelligence

T e gz @ tedt d - T ﬂw%mmimﬁmﬁaﬁ

TR F fafi yw
wﬁﬁmmmmm%gﬁmﬁmwﬁma?" o B A frw
a1 il w3 F Fifew @ 2o ‘:_3
(1) wfas gigaa (2:%%%—“%@6}@%:;31
(3) T gigma (4{;31%%

Feedback to the students in a classroom is mogt effective when, -
(1) It focuses on what the child cannot do rather ¢
(2) It centres around tests and exams at the end of
(3) It assigns comparative ranks to the students,
(4) It occurs during as well as after the Eea_{rung activity,
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10.

11.

12.

Rama is g teacher who ig

students to work i, implementing Vygotsky’s theory in her classroom and she assigns her

groups to complete a challenging task. During the task, one student struggles
student ? Y concept. What would be the most effective way for Rama to help this

(1) Assign a different task to the student that is beftef suited to her abilities.

(2)  Work through the problem with the student and-providing guidance and feedback as needed

while involving other group members, 3
(3)  Provide the student with the answer to the pr;o_ljém so the group can move on.

]

(4) EnCOurage the student to try to solve the prol;ﬁ];é}n? on her own.
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¢ and stability in emotions, personality and segial relationships together constitute :

(Ci'l;angl@ychosocial development (2) Coglg_i% development

(3) Personality development 4) Emotggl}a‘;[ developn}ent
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13.

iaget’ cognitive development implicates that :
{?)m P(I;gr:ci;zi? ;);lzlfl]d %bzldesigned ksepirfg;.:@gdren‘s age-group and stage in mind. o
(2) Focus of teaching should be the outcome-of the activity instead of the process of thinking,
(3)  Behaviour should be conditioned using réwards and punishments.
(4) Concepts should be taught in a sequenceof complex to simple.
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14.  How does setting mastery goals impact a student’s motivation and views of ability ?
(1) It often implies enhanced extrinsic motivation and belief in the entity view of ability.
(2) It often implies enhanced extrinsic motivation and belief in the incremental view of ability
(3) It often implies enhanced intrinsic motivation and belief in the entity view of ability.
(4) It often implies enhanced intrinsic moﬁgr_éion and belief in the incremental view of ability.
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15. Assertion (A) : During adolescence the pressures to conform to gender expectations and follow
conventions of feminity or masculinity increases.
Reason (R) : Gender and gender roles are determined biologically.
Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false. £
(3)  Both (A) and (R) are true and (R) is the Zorrect explanation of A
(4) Both (A) and (R) are t:;:: (R) is not t]je correct elear?:nzn(of) 5
s (A) :  FmEwen NS ST 3 sy :
T (R) : amaﬂﬁm‘ilm*ﬁfqmm_ﬁﬁqfﬁaaﬁw%l
wét foed 71 ik
) [A)aﬂ'((R)ﬁW%l
(@ (A) (R T8 E AR (A) 3 (R) et vy ey 3
(@) (A) 3 (R) S T & S (4) H (R) T8 s et e 3
p-rt (e 6



16.

17

porr TR

Assertion () ; Teachers should encourage debates, discussions and collaborations among
students.

Reason (R) : Knowledge production is an inactive process and engagement in group activities

hinders meaningful learning.
Choose the correct option.

(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.

() Both (A) and (R) are true and (R)
(4)

is the correct explanation of (A).

Both (A) and (R) are true but (R) is not the correct explanation of (A).
ST (A) :  Forert ) ool 3 e e =1 Si Fel 1 eafen e ey |

ST (R) : mmwﬁmm%ﬁtmﬁwﬁﬁfﬁﬁmwaﬂmﬁw
TTE & |
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Which of the following hinders the participation of s
classroom ?

(1) raised-line drawings and maps

tudents with visya] impairment jn

(2) tactile models of graphic materials

(3) electronically formatted lecture transcriptions

(4) printed textbooks and notes
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Which of the following is a correctly matched pair ?
(1) Formative assessment : determining what the students can do before and after the class

(2) Summative assessment : involves paper - pencil tests as well as detailed accounts of non-
written behaviours

(3) Criterion - referenced assessment : includes mastery of specific topics

(4) Norm - references assessment : compares performance to that of peers

frefafed 9 @ wiF-w w8 gafaa gm 872
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Sunita, a 12 year old girl, shows exceptional musical ability. Both her parents are accomplished
singers, and they send her for classes for voice training after school. Her capabilities are most likely
to be the result of an interaction between :

(1) heredity and environment (2)  gender identity and genetic make-up

(3) growth and maturation (4) nutrition and discipline

oA, T 12 9T T, fordre wiciter e vat €1 9% Ar-fn, S € frqon e € 3R g
F1 379 STTETST i IR A HW F faw wfineror wan F 99 @ §) G i 97 9 g w9 @ B
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3 IS i aftgaard 4) 99T R SIS

Which method did Lawrence Kohlberg used to study moral development of children ?
(1) Conducting observations of children during play

(2) Experimental method

(3) Quantitative research approach

(4) Posing moral dilemmas to children and analyzing responses

a % 4R Al 1 S
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Assertion (A) : Schools should function within frameworks which assess the finished product
and learning outcomes.

Reason (R) : Learning is tightly sequential and hierarchical.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A). ‘

e () : e 1 TE @ 3 s e e e 9 e S et 3 SR 1 A
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Which of the following statement is correct about ‘Autism” ?

(1) Autism is caused solely by environmental factors.

(2) Autism can be cured and improves with age.

All autistic people have at Jeast one exceptional skill
e Autism is 2 neuro-developmental d-.isorc?er.
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en teaching others what they have learned ?
(2) Reciprocal teaching
teashing (4) Rote learning
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26.

Sensitive periods are those time periods during which certain
for course of ‘normal’ development.

(1) environmental factors (2) hereditary factors

(3) genetic predispositions (4) ethnic factors

TaeYie erafy o wHa oy Bt & frad < F9 g w9 | ‘I’ fawm & fau
HEeqUl Bt © |
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Students struggling with dyslexia can be taught to read :
(1) By giving long and complex passages.

(2) Through association method of conditioning.

(3) Through systematic phonological training.

(4) By providing higher grade level reading texts.

T34 dFed § S[F W BEl &I Uel fammn S e §
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Which of the following question promotes analytical thinking ?

(1) What is the total population of India ?

(2) What are the various causes of increase of population in India ?
(3) The capital city of India is '
(4) How many States are there in India ?
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28.

Assertion
A) :
(A) Teachers should give lot of opportunities to children for experimentation and

dis
Cuss examples and non-examples.

A constructive way of dealing with misconceptions in children is to provide
counter examples.
Choose the correct option.

(1) (A) is true but (R) is false.

(2)  Both (A) and (R) are false.

(3)  Both (A) and (R) are true and (R) is the dorrect explanation of (A).

(4)  Both (A) and (R) are true but (R) is n6t the correct explanation of (A).

SUHAT (A) :  Forerehl 1w = e 35 I g A srere 3 e SR et 3 -SRreel
== AT =ey | e =
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Reason (R) :

W (oI AT faadid SeTetl Je T 8

e . ) , ’
cultures whiclestress social harmony, expressions of ‘anger’ are

Asian :
- od and ‘shame’ is-encouraged.

discourag
Emotions are subjective

Assertion (A)

Reason (R)

the correct option
(C;;OOS(; : iz - (R) is false o
false. M
(2) Both (A) an‘di EE; ::S tjue and (R) is ;%:éonect explanation .of (A).
(3) Both (Res R) are true put (R) is 1ot the correct explanation of (A).
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29. In order to develop critical thinking mﬁéng students a teacher should :

(1) give questions that involve inférénces and explanations.

™1
N

(2) avoid questions which need mfé:ré_;nce and analysis.

(3) ask only those questions wmc}%;;"rry single answers.

(4)  discourage the students from ;s;;g doubts and questions.
hﬂﬁ&iﬁmﬁmaﬁmﬁm%m & e &
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30. Inclusive classrooms : S
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IMPORTANT.| &0l

Candidates have to do questions 31 to 90 EITHER"ﬁb’f:n Part - Il (Mathematics and Science) OR from
Part - III (Social Studies / Social Science). FLLL
TR HY 79T 31 B 90 AT 7Y ey 11 ( fore & FrT) T T - 11 ( FAThids 3P/ wraifads
7r7) @ 3 &) N

PART - ILL4T - I
MATHEMATICS AND SCIENCE 1 ufdre 9 fasma
Direction : Answer the following 1 . t ropriate options.
' questions by selectingthe correct/most approp P
gt - Feferiiaa go+) & S 3% & forg wet/mas Svqda faweq 9
31. A teacher distributes different types of triangle shaped paper cuttings to the learners and tells

them to measure and tabulate the angles in order to find the sum of angles. He tells them to note
the result in each case.

This method of teaching is an example of :

(1) Deductive method (2) Analytical approach

(3) Discovery method (4) Teacher centered approach

uw freres fnanfidi =t fafir o & PSR T 1 Fae faaRa i & o 3= Holl 1 9 I

mﬁ#maﬁﬁa‘rmﬁﬁ'{wﬁa@aﬁﬂ?ﬁ@%ﬁm%l e 3 g it § oftoms | wH &

S

fora et B

1y FrmmreE (2) TR S
@ fafy (4) [Fagrer Hfeq STH
@ o)
£ (F), edges (E) and vertices (V) of a polyhedron are 7, 15 and x, respectively.
r of faces (F),

—4x) 18 :
of (2F+3E—4) _ & B

@ 17 . )
a1 18 N ), Fl B sk ot (v) 1 HEd A 7, 15 3R x §1 W9, (2F +3E—4x)
et T
3;11:]17-1%1 o 17 (3) 20 £4) 19

) 18 ROUGH WORK / T &
W 18— cvoR RouGH WON
N
L)
I
)
13 K

ji
p-11 |IIIII||II||H|I|I|IIiII1!IIII1I



35, 25, 29 and 35.
33. Marks obtained by some students of a class are 36, a7, 31, 42, 23, 38, 17, 18,

The difference of the mean and the range of the data is :

) o8 @ 6.0 P P 4) 5.0
Tl wen & g foenfudl g wa ais 36, 37, 31, 42233?‘1:7,18,35,25,29@'{35%\
T 3wl ¥ wen iR o # SR R i,

(1) 55 (2 6.0 (3) 4.5 ¢

34. TIf (2x+5y)2—5(2x +5y) — 14 = (2x + 5y + p)(2x + 5y + q), th then the value of (p+q) is
1) 9 @ -5 B) 7 4 -14
M (24 5y)2 = 5(2x +5y) — 14 = (2x+ 5y + p) R +5y+q) F A (p+q) F AT :
1 9 @ -5 G 7 (4 -14
35. A trader buys 12 fans for ¥ 24,000. He marks each fan atﬁg% above the cost pnce If he sells all
fans by giving 10% discount on the marked price, then h_lg.,gvera]l profit (in%) is :
(1) 3200 2) 3500 (3) 2700} (4) 3000
s SR 12 1@ T 24,000 T wliww 2 a%uﬁmq@ﬁ@ﬁ; ¥ 25% tfas W sifewra w2
ofz o Gt Ui & 10% H BT SH 99 <A 8, ﬁ[g«ﬁﬁa@?mww RH T
(1) 3200 (2) 3500 ®) 2’70(};___; (4) 3000
(a-— —b+c? —(@a—-b-c o) o
3@ pos is equal to :
(1) —4c (2) 2c 3) b-c @) c—g
a-b+d’ —(a- id) TR T oo
.__.————'——b — -a;—_;_
(1) —4c (2) 2c @) b-cs— (4)
— CE FOR ROUGH WOR — il
SPA K/ 7% % & forg —
AR 4
p-1r I




33. Marks obtained by some students of a class are 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 and 35.
The difference of the mean and the range of the data is e,
(1) 5.5 2) 6.0 @) 45 — (4) 5.0
et e ¥ o Frnfidl g0 W 30 36, 37, 31, 42, 23, 38,17, 18, 35, 25, 29 3 35 g1
T 3Rl 3 wen ol o A R
(1) 55 (2 6.0 3) (4) 5.0
34. If (2x+5y)2— 14— =
(1( o Y)®=5(2x +5y) ~14 = (2x +5y + p)(2x +5y + q), then-the value of (p+q) is :
) 2 -5 @) 7 .
I (2 + 5y)2 ) -
( y) ~5(2x+5y) - 14=(2x+5y +p)(2x +5y +q) ¥, A (p+q) A T :
1) 9 :
) (2) -5 @) 7 @) —14
35. A trader buys 12 fans for o
: T24,000. H HE
fans by giving 10% discount oy e marks each fan a£25% ab
n the marked price, then hi; ove the cost price. If h
; ; his overall o : e sells all
G ) 3500 B 2om rall profit (in%) is
. ) ol 4
gaﬂrﬂt‘r12.’4?3?24,{)0(}13@15(33(%i % T U 2 ) (4) 3000
FE WA T 10% H w2 A A 2y U | 259 arf :
& & 3 Tt s A R R e 3
(1) 3200 ?) 3 = aH(TH) ¥ .
200 @) 2700 _ ‘
) (4) 3000
2
34 (@—b+c—(a-b-¢? .
7 b—x ) 18 equal to ;
(1) —4c ) 2¢
(@) b-
(a_b+C)2—(a—b—c)2 ‘ (4) C—3a
b-—a TR E - &5
(1) ~4c (2 2¢c 5 —
b‘- T
SPACE FOR ROUGH WORK / _m@‘ .

p-1r (W e

14



37.

38.

39.

porr ([T

Which of the following is NOT true ?
(1) The expression (xz+10x+25) cannot be simplified further
(2)

: ion i i the
The value of the variable in an equation which satisfy the equation is called a solution of
equation

(3) 3+4xs is not a mathematical expression

(4)  Operations of multiplication can be done on mathematical expressions
Pt 4 3 o w am &R

(1) =9% (x2+10x +25) W R aAferer Treet T foban S W

@) mﬁmm%mﬁmﬁmm%mmwm%
(3) 3+4x5 T o siore 8 &

(4) waﬂﬁﬁm‘i‘vﬁmaﬁaﬁmﬁmm%

The domain of learning that deals with attitu

(1) Affective domain - (2)  Psychomotor domain
(3) Knowledge domain (4) Cognitive domain

TR %1 5 & S o e ve vt & e W & 5
(1) wrErs & )
(3) WHEHA @)

des and values is known as :

F T H I o
TR TS &5

T 85
According to National Curriculum Framework 2005 which of the f0110wing process is least
important in mathematics ?
(1) Finding short-cuts in mathematics.
(2) Generalizing a mathematical formula.

(3) Solving day to day problems. |
(4) Understanding when and how a mathematical technique is to be useq.
mmmzomﬁwﬁmﬁrﬁgﬂﬁﬁﬁhmmwﬁmﬁmm %?
1) ford o S @ISl | Tt
(2) TIORTE A H Hquét‘aarﬂT |

3) fem wfafed F THEST 1 G HE |

( ) %Wﬁmaﬁmwmﬁﬂaﬁm%ﬁmanmt

(4

SPACE FOR ROUGH WORK /1% %1 & forg wmg————————
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@0. M is a point on side AB of a triangle ABC such that AM=BM=CM. If angles A and B

respectively x and 70°, then the value of (3x +25°) is equal to :
(1) 100° (2) 115° (3) 70° (4) 85°

Tt s ABC %1 s AB W M T foig 0 Y& fiord & fif AM=BM=CM ¥1 afZ 77 A af
S x 3R 70° ¥, A (3x+25°) 1 HA TR T

(1) 100° (2) 115° (3) 70° (4) 85°
41. The sum of the largest and smallest fractions among 8 2%, g and 2% is :
7
2= i 9 37
@) 2% @ 25 () 25 4 <5
3
ﬁ4=h 2—, 2 3R 2— H Hol o 3R T B o 2
7 39
1 2— s sl 9
42.  The ratio of two numbers is 3 : 7 and their L i
numbers is : e in 680 T,hen, Sum of the LCM and HCF of thes
(1) 600 ) 660 3) 30
4) 300
< HEAH 1 S 31 7 & 7o Ty LCM =63
=630 ®1 9, T Gemar
ST B LM St HeF a5 4 4
(1) 600 2) 660 G 30
4) 30
SPACE FOR ROUCH WORK e e
/TR & % o e
P-11 IR SN 16




97352119

43. f_\rea of a right triangle is 240 cm2. 1f its one side other than the hypotenuse is 30 cm, then perimeter
(in cm) of the triangle is :

(1) 92 (2) 100 (3) 80 (4) 84

EPEl SR st o1 @t 240 cm? 81y v 3 o S T 9 30 cm 2, 9 39 g
IREY (em H) ¥ - —

1) 92 2) 100 (3) (4) 84

5 R

44. A sum invested at 10% p.a. for 2 years becomes ¥ 3,iﬁzzwhen the interest is compounded annually.
What will be the simple interest on the same sum a_;tftﬁe same rate in 2% years ?
:’ (1) Re75 (2) T 700 3) T625 . (4) T 650
10% = T T 1w 1 7w et 2 o 423,267 A R, s iien G S 21 9
PrRT™"
T RIH R 2%aﬁﬁﬁﬁmwm'@m? berde ":;T‘f‘o
o~ PA
) T Pyror2
g ae DXL T
(1) T 675 (2) T 700 (3) ¥ 625 (4) T 650 2
= N1EA =
45. How many natural numbers between 1 and 500 a :?;[_i:\risible by each of the numbers 3, 5 and 7 ?
o B :
(1) 5 2) 6 ©G) 8.3 (4) 4
1 3t 500 ¥ = Tl et wie el €, S el aRs ok 7§ 9§ v § frarw 9
1) 5 2 6 ® & (4) 4

46. Two parallel lines are intersected by a transversal and the two interior angles so formed on the
same side of the transversal are (2x+15°) and (3x—20°). Then, the value of (Ax +6°) is :

(1) 148° (2) 146° () 154° 4) 150°
s forder a1 < et @ AT I § a6 g6 v s v % o @ e ey @ shew

(2x +15°) ¥ (3x—20°) $| ga, (4x+6°) HHAE . ~
(1) 148 (2), a8 (3) 4) 150°
SPACE FOR ROUGH WORK /¥ #d & ferq s
PR -
“nxxtx“ﬁ i Y
t{h : ® ﬂ(j
17
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- .

obtained by a student in Mathematics, Science, Social Science, Hindi and
English are respectively represented by sectors of central angles 90°, 80°, 65°, 75° and 50°. If the
total marks obtained by the students were 540, then what is the difference of the marks obtained

by him/her in Mathematics ant English ?

-

47. In a pie chart, the marks

(1) 40 (2) 30 (3) 60 4) 50
T = A, feeh feraelt gk, fer, s fora, feedt ofte St & ST SfeRt Bl T 90°, 807,
65°,75°aﬂ150°%a#\uaﬁvfgﬁﬁwﬁmﬁaﬁﬂﬁm%| If s@ faenefl gR1 9w Fel 3 540

ﬁ,ﬁwﬁmrﬁaaﬂtﬁaﬁgﬂ el 1 R ?

e 1 SR T T "

(1) 40 2) 30 @) 60 4) 50 f%
e)_

48. Which of the following does not imply the meaning of assessment ?

(1) It helps to diagnose individual differences.

st

=5

(2) Itis a procedure to gafﬁer ‘information of student’s performance.

e
'hl..-:ﬁj Wimm

(3) Itis evaluation.

L

.

(4) It helps to label the stulents.
<

(3
ﬁﬁ%ﬁiﬂﬁﬂiﬂiaﬂw%aﬁﬁﬂﬁm?'

agsqmﬂaﬁmmﬁmﬁamaﬂ%ﬁmm%l

(1)
(2) g fereneft 3 A T SR T B i T T €
oo
(3) 78 GodiFA & w:
(4) a Forfefeil 1 AT ST Fer e ¥
SPACE F?ﬁ;ROUGH WORK / T% & oh {10 18 P
.
2

ot IO 18 TSI




49. Arrange the following statements according to ascending levels of geometrical thinking as per
Van-Hiele’s theory of geometrical learning,.

(a) Identification of properties of geometrical shapes{;

(b) Classification of different shapes T_*—-=
(c) Finding relationship between the properties of ;@euiml shapes
(d) Identification of geometrical shapes as they are::—__::_'

Choose the correct option :

M @ © 0, @ @ @ OB
3) (@), (b), (), (d) @ (@), ®) @),

A ¥ F sty Aferm & fagia & Er Frefafaa s 9 safrds 9 ¥ omd @ o et
HifTa |

(a) st sepfadl % TN H TEEH

(C) Wﬁﬂmﬁ%@%@?@u@m ;_;__:;-E
(d) ﬂrﬁ?ﬁﬂa@ﬁﬁfﬁ,ﬁ@ﬁisﬁmﬁw _:}

w# fawed 91 ¢
1) (d), (. ) (@)
3) (a), ®), @

@ @ OB,
@) @ ®) @ ©

hose diagonals PR and QS intersect at a point O such that
W8k =20 cm and OS=16 cm. Then, value of (7y+5) (in cm) is

@) 2k @) 23

y logram
50. g(lgi(X'i'?) cm,OQ=(x+y) c

28
(1) 26 (2%“%WPRWQSWT?§%OW@W%%|qfqop=(x+7)m
pORS T T a‘g"‘iﬁ'%cm e 05=16cm & @ (7@5;;35; (cm &) A :
OQs(x+y)Cm,OR=22 . gy 201 o, 28
1) 26 PA(LC)E FOR ROUGH WORK / TH.%T & e e
5 S
O
19 i@

[
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L\ ﬁ
2

R L |
If x is the least number which must be a¥ded to 955 to make it a perfect square, then value of 3x+2
I X1

n%

bl.
is equal to:
4) 14
1 11 2 5 € 40 &
af 955 & ) o el x et g e, < < o A, N 342 A TORE
1 11 2 5 (3) 20 Al
{IJ
52. Dis a point on side AB of a AABC such that CD mfz bisector of ZACB. If ZA=50° and £B=70(°,
then ZADC is equal to : :cl i
(1) 70° () 100° (3)1 (30" (4) 50°
%ﬁﬁgamcﬁgwmmﬁmo@ﬁgm%ﬁco o ACBWW@W%I Ifg
LA=50° M LB=70° % T LADC TR E: [
1 70° (2) 100° (3) L hpe (4) 50° &&-b
>
53. At upper primary stage, as pe NCERT, : : ]
e e e Systemg? per which of the following topics have NOT been included
(1) Exponents and Powers (2)  Square roots and cube roots
(3) Complex Numbers (4) Fra&gﬁ{ns
NCERT % 4R, 33 Wufs @y w7 G@ng‘urreﬁa;:é
fopg g & 2 ;:' T, T & ¥ <SR-y g <
(1) = SR A ) -%
() s HEn Yo Rl
(4) ﬁ’{'r'i:»g%
54. Perimeter of a quadrilateral -
. erim uadrilateral ABCD is 120
ZA=/B=90° then area of quadrilaterg] ABCC]? ?}?f‘;Bg 48 cm, CD=1y
(1) 720 () 750 & a : ) is : ‘M, AD=40 ¢m an
60
el =g ABCD 1 W9 120 em § | M Be y 4) 690
AW ABCD TR (i g, D=Vem, An
(1) 720 2) 750 CMAM £A= zB=A

p1r (AR

20




55.

56.

Which of th i
e following statement is least appropriate regarding the proofs in mathematics ?
1 |
1 t can help the students to validate their own reasoning.
) . :
(2) Proofs are built on intuitive knowledge and not reasoning.

3 It & )
3) explains why a particular mathematical result must be true.

4) It
(4) helps to reveal the connec:hons and provide insights into the underlying structure of

mathematics. g
Pt 3 & % Fre o g
1) %ﬁmﬁiﬁaﬁaﬁw%ﬁﬁm‘rmwﬁmﬁm%l
() Sqafet @1 Frmfor siadefa r wd & = fF o W/

(3) wwm%ﬁ@mﬂmw@ﬂmaﬂ%
aﬂ%ﬂmm%aﬂtﬂﬁmﬁmﬁ%ﬁmﬁmﬁzmm%l

4) Ig Gadl sl IR

Which of the following is NOT an mdlcator of creativity in Mathematics ?
roblem solving strategies.

(1) Students use multiple and altemate P

can poseé questlons &
m in different contexts.

e convergent T

(4) Students are able to think ﬂexably

(2) Students
(3) Students us

Wﬂﬁﬁﬂnﬁmﬁﬁmmmaﬁ%v
mwmaﬁmﬁﬁﬁ!ﬁmsﬂﬂmﬁl
(1) fﬁﬂlﬁﬁﬁﬂaﬂ?w
@) ﬁmﬁgﬂﬂﬁﬂmﬁa%' e
gfffaﬁ;ﬂ'ﬂa’%ifﬁaﬁﬂﬁ
(3)

)

21

.--.-uulllllllﬁ""m
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: 5 3
57. Arun is three years older than Varun. Eight years ago, i th of Arun’s age exceeded s th of Varun’s

age by 6 years. If the present age of Varun is x years, then the value of x can be determined by

solving the equation :

(1) %(x +5) — %(x -8)=6 (2) %(x +§Eé %(x -8)=6
5 3 5 ;—; 3
(3) g(x - 5) — E(::c -8)=6 4) g(x —i&{; E(x -5)=6

3 5
(1) g(x+5)*g(x—8)=6 ) %(x+3)-—%(x~—8)=6
(3) g(x—5)——g(x—8)=6 (4) %(x—8)~%(x—5)=6

- Py ii‘ﬁ
f the following statement is NOT correct with respect to Rubrics as a tool of assessment|

58. Which o
(1) Rubrics consist of a clear performance target %&_%tudents.
(2) Rubrics make evaluation more subjective. R
(3) Rubrics hasa fixed scale. :i

f characteristics describingzggéormance for each point on the scale.

(4) Rubrics has a list 0
e ¥ U WHA % w9 H o & T wer w1 €2

ﬁmﬁ:ﬁaﬂﬁ'ﬁﬁmmm
(1) mﬁﬁﬁﬁ%m@mgaﬂﬁa&q-@m%l
(3) mmwﬁﬁmmﬁl or

o 37 P R T TR 1 ot et fedronel 6 e @t &

(4) |
o ——— SPACE FOR ROUGH WORK / 1% @& & ferg wrmrg —
t[.r )
o)
(e
N
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59. The height and base radius of a right circular cylinder are 9 cm and 6 cm respectively. If the base

radius becomes half and height increases by 3 cm, then which of the following describes the new
volume of the cylinder ?

(1) The new volume will be thrice the original volume.
(2) The new volume will be one-third the origifia‘i volume.
LR

(3) The new volume will be twice the original ‘;’;;:llume

T S

(4) The new volume will be half the original voiéﬁe.
¥4

ﬁr&ﬁﬁqﬁq%mﬁmaﬂ?mﬁﬁmm:%aﬂmcm%n Tfg SR foren smedt T S S
wﬁﬁréﬁ3cm_ﬁqﬁwﬁmaﬁﬂﬁﬁﬂ%ﬁwﬁm%mmﬁmm%?

(1) o S T ST i o & e e s
i e
) T ST A ST T T T & S ;

o
®) T ST A AT

LS LU o 8
L
)
-

5 4+m+7x3+5e32+&f§12is:
f52x3+
@ 0 4) 5

@) et A T SR S

60. The value ©

2) 21
(1) 12 (

i @350 4) 5

() K/ T &Td & [ SITE
15 OUGH WOR.\.../__
m N\

alb O

2
B \¥ : 1% )
(5§ \/"’1 L. |

23 K

g
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Direction : Answer the following questions by selecting the correct/most appropriate options.

fdor:  frefafas 5o % 39 33 % 70 Qg /aad 3ugad fawed g

61. Discussion on socio-scientific issues in class helps in :
(a) developing argumentative skills in learners,
(b) developing multiple perspectives on an’issue

§ 2 %
A

(c) encouraging citizen science activities *=

=]

&y
(d) appreciating the role of society in development of science

(1) (c) and (d) (2) (@) (c) and (d)
(3)  (b)and (0) @) =@} (b) and ()

T H WIS T e TRl S &
(a) formaeaiel § ahuTa RiveT = fowr S0 o
(b) Tordlt A R gl o faem = o

(c) =miter fomm deitht nfafafiml = ifa @ o

(d) ﬁﬁﬁ%ﬁmﬁwaﬁqﬁm%@ﬁm&mﬁﬁ

(1) (o) 3R (Q) ) zgk:j (©) 3R ()

3 ® IR @ Al o) o (g
62. (A) Metal oxides are basic in nature. :::;

(B) Air expands on heating. i

(C) Lime water turns milky on passing carbondioxide.

(1) O-C1-ABD @
(3) O-CD;I-AB O
(A) oG-S T g,
(B) = T BT et 3 &)

(1) O-GI-ABD ‘:“T‘E'*"Sf)%?ﬂ1“--|1:."%,1:,\.‘_5]_(']3'.IEI
3 O-CD;I-AB {?) O-& 818, c - e w2
(4) OhB’C’I"AD

p-xx | OO0 A REARIE RO
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65.

64.

i 1
An object floats with Zth part of its volume outside the liquid when put in liquid A and Ti"th part

of its volume outside the liquid when put in liguid B. Which of the following statements is true ?
(1) Density of liquid B is greater than densitzy_’f_)f liquid A.

(2) The densities of liquid cannot be compar}ed_on the basis of above information.

(3)  Density of liquid A is greater than density, of liquid B.
(4)  Both liquids have same density. N3

, B

id

@ﬂﬁWﬁAﬁmm%m%aﬂ%%‘;ﬁmﬁa% (ueh =) 9FT S WYy AR § qen

e
mﬁBﬁmw%m%ﬁ%wma@ﬁ% (T <herd) w1 3 T et @) Frefete 9

A W T 2

(1) &9 B & 97, §9 A & = 4 U 2
(2) I YA F R T Z\ % T 1 G Tél Hi S Tk g
(3) Td A F1ENE, 59 B F A § SuH ¥

(4) S ES & HHE A € .

£ o=

-

FpEe

Which of the following is/are true regarding %gime;u;iﬁc investigations ?

(a) Results are not influenced by procedure,., .
(b) Social context may influence conclusionsj?:i%any investigation.

(c) Dataand evidence are same. ;:?:i
(d) Thereisno universal scientific method. &~ #
(1) (a)and (9 (2) (c)and (d) i (a) and (b) @) (b)and (d)
ﬁmﬁvrﬁaﬂﬁﬂaaﬂm/ﬂamﬁﬁmgéaﬁ/ R w2/
ofeom foen fafes g weferd € 2 2
2 waﬁuﬂ/mﬁmﬁaﬁwﬁamm%.
. ¥ iR T (AT T € € .

(©) ' fafe 7 &
Fifes (aderd) A
i ) @@ D @ME @ 0N

] ts is/are true=
Which of the foll;w::g l:zt;:ziz Sl bisex{l:h!‘_ﬂowers. o
(a) Self 01111;13 vers can pollinate poth by s¢lf‘and cmsf.1 pollmat:::.
O i e O e
(1) Both (a) 2 d (b) i8 false. (4) !ﬂlyp alse and . ;
@) @B e ®? D
ﬁﬁﬁm/ . E@ (Ta‘f)ﬁiﬂm%i

Tl + e A S & it wed
(@) @f‘wﬁ?‘ (W)’ﬁqﬂ @) (a) R (b) 21 wE ¥
(b) (b)aﬁﬂﬁ“*‘ (4) (a) e & SIR (b) WE R
1) (@) 3 3 (b) ™ 4 35
@ @ 25 . K



Nhich of the following statements is/are true regarding Rainwater harvesting ?

a) It conserves ground water.
;'b) It reduces local flooding.

) It creates drainage problems.
(d) Itcan be used for irrigation of crops. g2

D @bd @ ®od @ 0.0 @ @@

Prefafad & A 1 T/ FeF Fui-ot a’tw%aﬁ?‘%ﬁ /&2

a) T Y-SFel 1 TR T ¢ e
(b) IE TAMIG A I HH Ll ¢ | M~

©) ﬂ%ﬁﬁﬁﬁmm%ﬁmﬁﬁwm%ﬂ;

T
E

() 3HH ITE ol i iR & forg fra < gEma g
1) (). ®), (@) 2 (®) (), (@) (L@, (b), (o) 4) (a), (o), (d)

Which of the following factors are responsible for génerat'ion and flow of winds on the earth
@) Uneven heating of the earth

b)  Uneven heating of the oceans
) Distance between earth and sun
d) Gravitational force on the earth

1) (a) and (b) (2) (a) and (d) 3)eLdnly (a 4) (a
quﬁlﬁaﬁﬁaﬁwﬂmqﬁ}wvﬁ%w(qgﬁaﬁm};%qm(g? AR 2
@) g = sl (Rad) o -y |

b) TR H S (fEd) e

© IR SR g -4

(d) Y& W TR T 5
H @B @D @@ (3 )

Read the statements given below and
Assertion (A) : The filament of an in
Reason (R) :  Tungsten has low resist .

(1)  (A) is true and (R) is false, ~esgnd high melting point,
(2) Both (A) and (R) are false, O

[3) Both (A) and (R) are frue and (R) is Correcﬁ"—eﬂi. 1 .

(4) Both (A) and (R) are true but (R) is I anation of (A).
Prerferfaa e 9 afg si L S e explanation of (A).
AHLT (A):  TF A woy Eo | :

. 9] (dq) =
(1) (A) B8 & 3 (R) 7om & T e &
2 (A) R (R) 3 Torg ¥ O

(3) (A) ¥R (R) 3wy ¥ aw (R), (o
) (W) ) T 00§ o, ) 0 T

(LT




69. A gender res

ponsive pedagogy in science entails.

(@)  Use of gender sensitive language
(b)  Engaging students in examining stereotypes
(c)  Making gender based groups
(d) Using differentiated instruction and assessment
(1) (a) and (b) ) ;% and (d)
() (@), () and (o) & 930 and @
form # feim (W)Wﬁﬁaﬁmwmﬁ%ﬁh%:
(a) Wﬂﬁfﬂﬁ(ﬁa)@@wﬂaw%sﬁ“
(b) mmﬁaﬁa‘hxmmﬁﬁﬁﬂﬁgﬂﬁmmﬁ
(€) T (S) snenfea e s =3 e
(@) Todrpn féw o oo % i = P,
1) (@) 2 ) () o) 3k ()
®) @ @) 3R () @ (@) (o) I (q)

70. Whihofthflloin ent is no epard;
Eg 2 Condlfct‘;:)n ‘évoe Sg z(t;tt;ll':en; 11;;:]_; tr;\lsee ; garding COI"I‘-.'hJCthH of heat ?

All materials do not allow h .
8; gondu;ﬁon is faster ?n‘z;\lridg at;;g\ ?l;‘:lir ough them in Same way
WO objects should be in contact with .

Frefafes 4 ﬁmmm%wgaw%o;hgr fgr i
(1) I e Ay = ;
(2) = o=l (i) s 2 Vi
(3) = = gor H 3 el # e g A E‘ﬁ?"ﬁ3'3"”5‘"'6‘°fa‘?’f/a?1'°r%1
@) m%m%maa@ﬁaﬁw-w;-mﬁ@mﬂ%m '

71. The purpose of divergent tions in scj 1
@) o promote crtal thimang " T EHS00m ca e
(b) to discern between students
(c) to develop communication
(d) to identify gifted students
(e) to identify alternate conceptions
(f)  to appreciate subjectivity in science
(1) (a), (c), (e) and (f) (2) b, (@),
() (@) () () and (o ® o, (o, ) 2ne a
o efl H STTaR T o1 929d B T &, w-
(a)  SACICT, (Fterier) o 0 SRR ey
(b)y Famtei & i irg ot A7 O\ Sk

(c) . #m (Fm) fafam A MO
(d)_ wfavredt farnfezi 1 vemm &0 ::\")
(€). SHICTH: HAURIA F1 TEAH FA F L

(f)
(1)
(3)

for A @ e w O
(a), (), () 3T () 1@ (), (), (@) s
(a), (®), (d) 3R (¢) 4 M @), ), (o an

P11 (AR 27




72.

73,

74.

Which of the following characterizes human circulatory system ?

(1) closed, single circulation (2) closed, double circulation
(3) open, single circulation (4) open, double circulation
(1) o, THel e (2) ~Hga, Teead

F oa -
(3) forege, T W (4) ;‘_;ET“ fgamd=mt

(1) They can’t be challenged. —

(2) They provide reasoning for physical phiefiomena.

(3) They describe relationships between observable phenomena.

(4) They are formed from scientific theories. ,’
frrefafigd § @ S fawl & s § FE-w w82

(1) € g T2 < <o §

(2) & viffen oSl % fore ad (forre) S e €

3) éaaﬁmﬁﬂaqﬁamaﬁ#nwwaﬁi%hm%n

(@) 3 fasid @ wR # I

T

=

Y
=

Read the statements given below and choose the correct option :

Assertion (A) : The rate of breathing in a@c animals is slower than land animals

Reason (R) : =~ Presence of large amounts of dissolved o
animals.

(1)  (A) is true but (R) is false.
(2) Both (A) and (R) are false,
(3) Both (A) and (R) are true and (R) is tfect explanation of (A).

(4) Both (A) and (R) are true but (R) is ndt-crrect explanation of (A)
Fpetfefiam ot 71 e Si Wd S b '

Sl WMﬁmﬁw%ﬁﬁWaﬁﬁﬁﬁ%

il

xygen affects rate of breathing of aquati

o (R): S H el g SRS 9 e i g
1) (A) T T (R) T £ ey ST 1 T < g ot 21
2)  (A) 3 (R) SH e € 0

3) (A)aﬂT(R)aﬁfHﬁ%w(R),(A)aﬁww%l
(4) (A)aﬂT(R)ﬁFﬁ%qﬁ(R),(A)iﬁ‘}-g—@mﬁ%l



75. -
5. Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.

Reason (R) :  Sound waves after striking a curved surface get reflected in all directions.

(1) (A) is true but (R) is false.

(2)  Both (A) and (R) are false.
(3)  Both (A) and (R) are true and (R) is obfrect explanation for (A).

(4) Both (A) and (R) are true but (R) is not cc correct explanation for (A).

ATHET (A): o a aﬂwﬁam@%ﬁ@am afsra 2t €1

T (R): Qa?aﬁﬁmﬁmﬁ%qmaﬁmﬁaﬁﬁmﬁﬁmﬁaéwﬁ%u
(1)  (A) ¥& ¥ R (R) T ¥ plies

() (A) 3R (R) I 7o €

(3) (A) 3R (R) i W&l & 7 (R), (A) FT W = ¥

4) (A) 3R (R) 3 T & WA (R), (A) FT T =0 T 2

p—
F==

e T

=

76. Which of the following is not caused due tosexeessive use of fertilizer and pesticides ?

(1)  Eutrophication () é; gFB_:,:,;O-magmﬁcatlon

(3) Soil erosion (4) ¢ Nitrification

b e ] e e T 8w A 2

s i @) & sEdT
4) R
) T (4)
(@)

77. An odometer in @) T acceleration of the car

(4) Nstantaneuus speed of the car

(3) distance travelled bY .
‘ P
o FR A i A i il )
(1) S (ifd) (4)0_)' :: ’ qma:a -
@ I SRR ) AT K
P-11 llllllllllllllllﬂllllll



. 78. Identify the mirrors on the basis of information given in the following table :

Mirror | Nature of image Size of image
A virtual and erect same as object
B real and inverted same as object
C real and inverted enlarged
D virtual and erect dumrﬁ?hﬁed

(1)
()
©)
(4)

A - Concave, B - Plane, C - Convex, D="Concave
A - Plane, B - Convex, C - Concave, D =*€onvex
A - Convex, B - Concave, C - Convex~P= Concave

A - Plane mirror, B - Concave, C - Copge D - Convex

FreAferfa JReft 3§ <t 8 Yo o SR TR IHH-H TE=H FifsI :

wfafara #Y ysfa nﬁtﬁtaaﬁf'amn

Dncu}%»

AT AR Feaie T % HAITET
IRl AR TG | T & THEEY
et 3 wfaaita faafga

ST ST SeAsfieff AT H B

1)
)
(3)
(4)

A - T, B - 77, C - 310, D - 0
A - #Eqd, B - WA, C - 39, D - 3o
AWBW&@CWDW
AWBWCWD@

79. Three identical holes are punched at dlfferent levels (heights) in a plastic bottle. The bottle is filled
with water. Which of the following statements is true regarding the flow of water from the
holes ? ()

(1)

us e # aae § fu=-fae wl (el

Water from lowest hole comes out with g greatest force
Water from highest hole comes out with greatest force
Water from all holes comes out with equal force
Water from lowest hole falls at maximum distance
Water from highest hole falls at maximum distance
Water from all holes falls at same distance

(b) and (e) (2) (a)and (d) (L\ (c) and (f) = g) (a) and (e)
PR HHEY (THET) feu u| Se i grt E W

fen | ﬁmﬁf@aﬁﬂaﬁqmwéﬁlﬁmﬁ:(m)aﬁﬁ%aﬁﬁqﬁ%?

(a)

fa=ray 9 @ T Afusad 99 & 9y
T=3q 92 A I ik o % Wy e

E;) mft BEf | O geE w9 9 et s [N
(@) freTm 98 @ it srfesham gff W from -~
() T BT & THT stferhe gl w firem -—
(f T SE | T gl e @) o
(1) (b) 3R (e) 2) (a) ¥R (d) 3) (o) 3R () @) . @) 3R ©
p-xx [N ARIRL 30 o K



y)

80. The colour of flame depends on :
(a) Nature of combustible substance
(b)  Oxygen supply
(c) Temperature of the surroundings

5_21@ TE:T) ;ndﬁ;?m %(:2) (a) and (CI:'T"} (3) (a) only (4) (b) only
(a) <& 9_Y Hi yFHq W . i
(b) AT Imgfd W {f—;
() SH-UE & qIHM W ;fj
Q) @3IE @ @D @ FEE @ =0

§ TEm
i e

81. A class VII teacher plans to identify alﬁate conceptions of students in the topic ‘Adaptations in
plants and animals’. Which of the following sets of strategies is best suited for this purpose ?

(1) Diagnostic questionnaire, interview, drawings

(2) Project, checklist, drawings

(3) Drawings, checklist, interview

(4) Portfolio, group discussion, diag?#(ﬁtic questionnaire

e VI 1 T Foee e s Sfra-igedt o W"fwmﬁmﬁmw@ama‘fﬁ
e R Fi A S e %wﬁiﬁﬁﬂﬁ@ﬁ@ﬁﬁﬁﬁwﬁﬁﬁ—wmm

®7?
1)
(2)

3 . reTEhl
3 e (Fepti), AT T
. W@(WLWW

st ST, ST, S ()
v (e, St SRETAFED

tal in @ peaker of cold water and notes down the observations.

f potassium M€

iece O 5
P tion is not

[lowing observa

g2. Sunita dropsa g

® cld e T E
2) e o e a9 9
g 59T
(4) a% 31
I
- ||1||||Mlﬂ*|“ﬂ‘“mw



Following table depicts colour changes in acids and bases when various indicators are added :

83.
Indicator I—E;lour change in acids | Colour change in bases
Turmeric No change A
China rose Dark Pink B
Phenolphthalein C Pink
Methyl orange D

g 3

A, B, C, D respectively are :
(1) reddish brown, pink, orange, coloutless

el

pink, colourless L

Y

%

i
5
K

(2) yellow, orange,

(3) reddish brown, green, colourless, o%nr%e
4) yellow, green, orange, colourless
ﬁm%faﬂmﬁﬁfﬂﬂ@aﬁ%@ﬁmﬁmmaﬂi Hﬂﬁﬁﬁaﬁfﬂqﬁﬁﬁ?iﬁﬁﬁﬁfﬂ?ﬁ%:
o S

qah
[ g

goal

<A1 T
EIGECISE

| A
a B c DT O
qy T sifest (D), T
(2) ‘qqrén" m: w’ qwﬁ
@y T " ———

el 2, 311")\""_’[ (Wﬁ)* FT'G:T:{
(4) ’ O
— permﬁ of a man fuse with two eggséiﬁ womarn. T'h(.e twins formed are :

pd- pe identical of fraternal (%) j..nalways conjoint
(1) :zz;j:tical (ﬂ:h_j}fratvrnal
& amﬁﬁﬁ:aﬁ el (31%) %imﬂﬁw:&%r 9 AT e B ¢ :
CUR U il _
™ . e WA ¢ wed © (P ey wIH
1) (4) v
) 32
g




) 85. i ing i
' Which of the following illustrates “science as inquiry” ?

(1)  List five uses of coconut tree

(2) Observe the types of venation in various leaves

(3) Classify the given plants into herbs, shrubs and trees

(4)  Explore factors which affect the rate of germination in gram seeds

Frefafes 4 & 9 w ‘Sie-veam %t 7w e @ fafa ww §2

(1) ?rﬁaaﬁ:%(?ﬂ)%nhwmﬁa;%

(2) o= ol # ferafer=mma % wohnl 1 Sl Hen

(3) e (dheiy o, e e gl e

(@) = S ST TR A TS e 1 S

.

86. Read the following statements and chooseﬁw: correct option :
S1 - Photosynthesis is endothermic reaction.

S2 - Respiration is exothermic reaction.
(2) Slis false and S2 is true.

(1) Slistrue and S2 is false.
(4)HP0ﬂ1 S1 and S2 are false.

(3) Both Sl and S2 are true. )
3 g e 1 g iR T I T

o - yaE SETA arfufian €1 i
£ (25%1%%31\152@%
@) g o 52 2 e 1
(461 3 S2
@ s s dAwE o
it i develop inductive reasoning ?
i ctivities 15 pest suited to p
_ Which of the following @ - . ”
v ¢ Jaws of reflectiont experimenta’y .
(1 = ify ms based on law of reflection

laws of reflection
- reflection for various cases O
e angle °Lf

nts b e
<

(2) solve

o e
(4) asking stue

f angle of incidence in a

M i
feref® ) g ﬁﬂﬂaﬂﬁ%mh
: e T o Bt el 3 g - e e e
. fareniel 2 e T # o
33
(4)
P-11 NI!IIHIIIIH\IIHIN!IH\IIIIIHIHEI
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88. The atomic number of A is 13 and the atomic number of B is 17. The chemical formula of the
compound formed from A and B could be :

(1) AB, (2) AB 3) AsB (4) AB,
Amm—mw’a‘MBmm—Ww%l A 3R Bﬁﬁﬁaﬂ‘rﬁamwmﬁﬁng@im% :
(1) AB, (2) AB cen (3) AP (4) ABs

£ .
89. Read the statements given below and cgrgg;se the correct option :
{ ]

bt 1
Assertion (A) : Itis recommended thgl:zc_;:id should be added to water for diluting the acid and
not vice-versa. S

Reason (R) : Dilution of acid is a mglzy exothermic reaction.

(1) (A) is true but (R) is false. e

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not correct explanation of (A).

Fefetaa FoFE fgu i @ SWH I HIT

SRR (A) : g st & s o by Pt 6 e v et e < =i A i a9

1) (A)ﬂé’r%m{mw% (I
2 @A ai‘r{(n)aﬂ’maa%l i

3)  (4) FR®) <l W € 7 (R), (A)‘;ﬁiﬂﬁfmﬁl

@ (A)W(R)ﬁ@%“ﬁm),(ﬁ%@maﬁ%m

Which of the following is nota feature of alternate conceptions in science ?

90.
(1) Jdeas are developed from observ?iagl;feames_
@ e do not demonstrate cause m—n,ﬁ.fffect reasoning.
(3) [deas are stable. R
(4) 1dee® are resistant to change. (N
- . ) |
N~
(2) ﬁaﬂ,maﬁ'{gqﬁﬁﬁ sﬂmgl
(3 fearerd €1
(4) faran ofrada e @ £
1 !Mhlﬁ'iﬂ!lﬂlllﬂimﬂlliﬂ N



IMPORTANT | Wgwaqvf :

Candidates have to do questions 31 to 90 EITHER from Part - 11 (Mathematics and Science) OR from

Part - III (Social Studies / Social Science).

qitenferar &1 gy 31 @ 90 AT @ 9T - 11 ( T F A7) 3 W - 111 (@S SEaaT/ amifaa

faarT) @ & &1
PART - 1l / 4T - 11
SOCIAL STUDIES / SOCIAL’:SGIENCE AHIS Wlmﬁmﬁaﬁ

Direction : Answer the following questions ?Jyhjéelecang the correct/most appropriate options.

T - ﬁwﬁ@am%mﬁ%mw&%ﬁaﬂgﬁﬁmgﬁq

The Government has passed laws_ that made it mandatory for organisations with more than
women employees to prcmde creche facilities.

1) 25 2 30 ¢ (3 10 @ 15
FER A U8 FF Oia fohu & e 37 Sl § sreraret (Gha gfaen) sifar frar & sl afeen FH=nfEt
&I & T 1fees B

1) 25 2) 30 3) 10 @) 15

31.

F.:—-"-‘t..

The Indian National Congress in t‘ruz,,garly years raised a number of economic issues against the
British. Choose the correct option. ¢ iy
51_

(i)  The Congress declared that thé_Bi',msh rule had led to poverty and famines.
5{‘ =|.

(iij) It demanded reduction of reventi‘e and cut in military expenditure.

(iii) Congress demanded more fundssfor irrigation.

32.

(iv) It raised the voice against entértainment tax.
(1) Only (i), (i) and (iii) are correct (2)  Only (i), (iil) and (iv) are correct
(3) Only (i) and (ii) are correct
i =l 1 st v i % Sl el g R ST SR W S

(i) mmmmﬁmﬁﬁﬁﬁuﬁwﬁ%mﬁﬁﬂﬂﬁaﬂ?mw@g,
|

| iy zEA A F, fﬁmﬁwfﬂlmﬂwﬁvﬂwﬁmaﬁml

(i)
g::ﬁfiqaﬁaamaf%ﬁaﬁ'( el
(iv) smwwamaﬁf@wmwzﬂl

(1)  Fed (i), (ii) T (idi) TE 2| c,,,(2) I (i), (i) T (iv) W ¥
(3) et (i) T (if) e F (4) e (ii) T (i) T ¥

(4) Only (ii) and (iii) are correct

S T 35
K

- R o



33. Match the following columns and choose the appropriate option :

Sphere of the Earth Feature
(a) Lithosphere (i) Plant and Animal Kingdom
(b) Hydrosphere (i) Made up of rocks and minerals
(c) Atmosphere (i) Various sources of ‘'water
(d) Biosphere (iv) Thin layer of Air 1‘*
1) (@), B)-(v), ©)-6) (d)-() oo
@ (@-@v), ®)-0) ©-) (d)-(ii) 5
@) (@-G), O)-(), (©-(H) (d)-(iv) ,;

4) (a)-Gi), (b)-(i). (©)-(iv), (d)-()
Frfafed | & T Sfeai =1 fire ST

gt & HeH frgveaT
(a) THCHSA @ e ey
(C) alﬂ"'gﬁl (m) | a; ﬁf"q:{ 'Eﬁﬁ {:?}
) ) T

1) (a)-(id) (b)-(iv), (©)-G), (d)-(iD)
@) @-Gv) (b)-(i), (c)-(i), (d)-(iiD)

@)  (@)-G) ®)-) ©-G (d)~(iv) L2
@) (- (b)-(iid), ()-(1v), (d)-(1) %_
34. Which of the following is true about Ashoka’s d;m"j;j;

(a) It did not involve worship of a god.

(b) It did not involve performance of a sacrifice.

(© The ideas of dhamma were inspired by the teachings of Bu(idha

(d) Ashoka appointed Buddhist monks to teach people about dhan;ma
Choose the correct option : i ;

(1) Only () and (9 @ Oy (Ph) and
(3) Al (@) ®) (@ and(d) @ Om;’( (:)) a(:)da(x;) ©)

A F A 9 W H I % g & T § vl R
gﬂﬁfﬁﬁmﬂﬁwﬂﬁmqﬁzﬂl Ei,\

(a)
o) e o el s A o gy L
(©) oy 3 T 9% % gueel 4 AR 4 ;H

) i 71 #7723 % Terw, ik 3 s Fgell 20 Frgfrs
aft faded ¥ a4 |
(1) e (b) 9491 (c) (2) Faa (a), (b) @
g (©
@ @ ® (c) e (d) | 6 ey )

p-1I g .



. 35. Below are two statements (A) and (B) in the context of leather workers in 19% century.
(A) During the First World War there was a huge demand for shoes for the armies.

(B) The poor people from ordinary castes saw this as an opportunity and were ready to supply

shoes for the army.

Choose the correct option : D

b E
(1)  (A) is true but (B) is false (2; (A) is false but (B) is true
(3) Both (A) and (B) are true ;’ 54@ Both (A) and (B) are false

#ﬁ&rm(mﬁzm)waﬁmﬁﬁﬁéﬁﬁﬂmmm%mﬁ%
R
(A) mm@%ﬁmﬁm%%ﬁﬁiﬁwnﬁﬁmﬁnﬁ ot |
(B) W= Sl ¥ THim Al 3 7 s aﬂiﬁm%@sﬁaqﬁf%‘smwaml

W fashey &1 =97 =4
(1) (A) ¥ & A (B) T & (2 (A) ToR ¥ AfFT (B) W B
(3) (A) 3R (B) I W&t ¥ 4)  (A) R (B) 3 e ¥
£
36. C’I;}}fedMughal revenue system with 1ts;:;§n schedule of revenue rates for individual Crop was
(1) Zat (2) Iqta :fh ) Jagir (4) Zabt
mwwﬁaﬁaw%ﬁéﬁéﬁaaﬁwqﬁmﬁﬂ%@m%
(1) ¥m (2) W {é @) =ik (4) v

37. The rocks that were formed 300 million years after the earth was formed, i -
(1) located in Eastern Europe ’
(2) located in the Himalayan region
(3) considered as youngest rocks in fi{e’world
(4) located in Western Australia *J

et 1 i 4 9 meaﬁﬁwfw%&pﬁmﬂmaﬁ £

(1) o 709 e B
@) feme &4 1 feud € ==
o) o 7 e v o ¢
@ feret aeferan & feurd €

37
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38. Match the following concepts in Column - I with their examples in Column - IT and choose the
appropriate option :

Column - 1 Column - II
Concepts Examples
(a) Discrimination (i) Differential pay for same work
(b) Inequality (i) Villagers are superstitious
() Stereotype (i) Womannotallowed tobe hired since she is starting a family
(d) Prejudice (iv) Girls are good at cooking

(1) @-Gv), B)-(ii), (©)-(), (d)-[D—=,
@) (@~ 0)-6) (©-6v), (-G
@) (a)-(i), (b)), (©)-(), (@)-Gv)__
@) @-Gv), ©)-G), ©-0), (d)-GE),

w-lﬁmﬁmﬁﬁwmﬁ@—nﬁmmﬁmﬁﬁwmaﬂtwﬁm

ﬁﬁ'a : £¥ 2
@ -1 & - 11
(a) =YW@ () w9 %E & fau otem o
(b) STEHE () TEETE sufavard §
() fgafed (i) q@ﬁjﬁ?mﬁﬂiﬂﬁiﬂﬁ%aﬁﬁaﬁqﬁaﬂﬂﬁm@%ﬁﬁ
Rl
(d) gEEReT (1v) TS T S/ i e Tt ¥
(1) (a)-Gv), ®)-(iid), (©)-(), (d)-GE -

@) ()G, (b)), (©-Gv), (@G
(@) (a)-G), (b)), (O-Gi), (-G,
@  @-v), B, ©-0), @G

39. Which of the following is/are cor{_;g(::gly matched ?

Crop Required Climatic Condition
(a) Coffee - Cool and d‘qiT:Ehmate
(b) Tea . Warm climate and high rainfall

Choose the correct option :
(1) Both (a) and (b)

(3 Only (@) . 2;13“;;;&) nor (b)
ﬁﬁﬁﬂﬁm]ﬁﬁiﬁwwmﬁ%/%j
AT ety
- o
(a) FH - FE R ey
(p) =M ! Sy 'W‘m a1
. af faged & 994 Fife \
(1)  (a) @41 (b) =l l{_ ) "
(3) Fa (a) O @AM (@) 3R @ ()
g: W )
)
porr (WA .

38 ? |




- 40. The category “erstwhile princely states” was applicable :

41.

p-11 nwmnwumll

(1) in the post-1956 when they were no longer retained as administrative units.
(2)  to none as no such category existed in India.

(3)  at the time of Independence around 1947-48 only.

(4) Dbetween 1947-48 and 1956 when they were recognised as administrative units

‘s framea” oft wmy o

(1) 1956%mwaéummﬁ$mgﬁ&;mﬁgﬁmqﬁ@W|

(2) Tt o it = A e # e g Son ferer = R T

(3) T F HHA FIA 1947-48 F 37 T | }E_‘ﬁ

(4) 194748 3T 1956 F == W& 3= yorafe goedi % & B e |

—
Match the following in the context of people and objects in agidient times and choose the appropriate
option.
A B
(a) Barygaza (i) Stamped red-glazed pottery

(b) Shrenis (i) Bharuch

(c) Arretine ware (iii) Independent farmers
(d) Grihapatis (iv) Associations of crafts peﬁs and merchants
(1)  (a)-(iv), (b)-(iid), ()-(1), (d)-(i1) o)
@) (a)-@) )G, ©-v) (@ ~(iii) %
@) (a)-(), b)), ©-0 @ -(1ii) -
@) @ OH) O O o v e 1 e
il
i 1 At A A & wed ,
A @ T il o - TR Sd

(a) A Ly wEd

goft (i) .
) . a (i) ¥ FIE - %)
© T " fqreadrt] e SArafel & 6|

o

Al -
- iv), (b)-iii), (€ (i), (dr (_” N
() (@O0 vy (@) N

(a)-(i) (b)-(ii). () (i o i
(2) (i) (b)-(i")' (c)- -(1), 1.0 =
(3) (a)- B ) (lv) (C) (“1) J (_O
@ @@ C 39 K

ML

Y] AnyScanner
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42. Archaeologists play an important role in deciphering history. Which one of the following choices

is incorrect about their nature of work ?
(1) Look for bones of animals, birds and fish
(2) Examine the written records

(3) Study the remains of buildmgé;;—lg';intings and sculpture

g

(4) Explore and excavate tools, wea_;pens, pots, pan, etc.

Wﬁ@ﬁﬁmaﬁﬁwﬁ/@ﬁmww siftrem faum €1 Frfafea ® & 3735
HTH HI YHA & TR H HF G TE T F2

&

(1) S, e, wefe wi wfgE ge,
(2) fofea amef (S =it s |
3) e, fell (AfETR) e ki & STt W AeE

(4) i, eforard, s, 39, onfe @t Wit % forg o-si iR g

30

g™

43. The opening time of Central Government Offices in India is 9:00 a.m. IST, what will be the local
time of opening of the Central Goverfmment Offices located at 80° East Longitude near Chennai

and 92°45' East Longitude near Itandgas respectively :

(1) 08:50 a.m. and 09:41 a.m. respzﬁfép“i;rely

(2) 09:41 am. and 08:50 a.m. resﬁgd?i?rely
(3) 09:10 a.m. and 08:19 a.m. respectively

(4) 08:19 am. and 09:10 a.m. respectively

A # T TR FrEterd & e F1 aa GaE & 9:00 A IST (IR A T ) t e F
FHI: w°ﬁmammﬁw5'ﬁm%wmmwm%wﬂ
TG AHG FHHL: 9918 2 o

(1) %H9: GIE % 08:50 991 a4l ga;;}g:an EE|
(2) FHN: GAE F 09:41 5 91 gai_kg?p&so T
(3) FH: FAT & 0910 7 a1 qa%‘;ps:w CEl
(4) FHA: GIE F 08:19 791 991 Go® & 09:10 73

P-1T [NER R 40




44. Women were taught at home in nineteenth century colonial India because :

45.

46.

P-I

(a) they could study as well as do domestic duties.

(b)  people believed that going out in public places would corrupt them.

(c)  people wanted to hide the fact of their education from relatives and friends.
Choose the correct option :

(1)  (b) and (c) 2) (a), (b)and () (3 (a)and (b) (4)
St Wt 3 sty s 3 e H) ST @ TR S o i -
(@) & R ¥ wny-we wie FW O FEH| -,

(b) T TR & fo e T ST R e T

() T ot Wi s firdi & S Fne 0 A R A1

W& forea w1 v B By

3

G GO @ @O @ @ke @ @FO

(a) and (c)

Which one of the following is not correct for grama-bhojaka ?
(1) The king often used him to collect taxes from the village.

(2) He did not function as a Judge and policeman.
(3) Usually, men from the same family held-the position for generations.

(4) He had slaves and hired workers to cu?lﬁ;:ate the land.
ﬁmﬁrﬁaﬂﬁﬁaﬁqmm-aﬂwa:m@qg%?

1) ﬁamma@%wwwmﬁiﬁqaﬁm

2) ﬁmtﬁﬂaﬂ?gmﬂmqﬁmﬂﬂiz

(3) m@ﬁqﬁaﬁ%ﬁmwmmaﬁgﬁ;ﬁwaﬁ@m
) gﬁaﬁﬂmﬁ%wﬁﬂwwﬁlﬁl

nts (A) and (B) in the context of Shri N
f all within a single sect or caste.
faith in all gurus.

arayan Guru.
e two stateme

Choose the correct opﬁ"'n : tse @) {{A) is false but (B) is true
put (B) is 2 (4) Both (A) and (B) are false

(2 e & < (B) T &
feaped T (2) (A)TTEECT

(1)

5 @FEO o 41

: WII!IIMI!IllIIIIlIIIIIIIllIl




47.

48.

Match the following pairs and choose the appropriate option :
Rocks Origin/formation

(a) Igneous Rocks (i) Change under great heat and pressure

(b) Sedimentary Rocks (i) Molten Magma

(c) Metamorphic Rocks (iii) Deposition by wind)and water

1]

Choose the correct option :
(1) (a)-(iid), (b)-(0), (0)-(i)
@) (a)-(), (b)), (©-(i)
(3)  (a)-(i), (b)), (c)-(ii)
) (a)-(i), (b)-(ii), (©)-0)
Pt el 1 foe R iR SR forped A I

|

|

. Sl A
U W R :ﬁj,

O

18|,
'lF 3

e waafwy/fmfor

(a) oma de () ﬁm@ﬁﬁ%wm@aﬁ%
v .
() wmEmrE I (i) Q?wm%zm wﬁ@wﬁm,@m’wﬁm
wd fasked &1 =T cadl g
1) (a)-Gid (b)-(), (c)-(i)
@ @0 (b)-(ii), (c)-()
3) (@@ (b)-(i), (c)-(i)
(4) (a)-(id) (b)-(iid), (©)-() ’f:if
Jayer of the atmosphere has very thin Iayergg:aiir ? h
here () Mesosphere ﬁfn“OSP ere (4) Exosphere

B o & g G e
Wﬂﬁm 2) geAH e (3) %a}’a‘qﬁ iy
@ ) K




(d) Large Number o
Choose the correct option .
M Only ®b), () and (q)

) Only (a) and () @)

(2) Only (a), (c) and (d)
Grily (a), (b) and (c)

(a) =9 9
(© mmﬁﬁwﬂmm

(@) forgsil % 7oy # i w/ren
e fasheq 1 =T Y

(1) e (b), (c) 791 (d) @)
(3) A (a) T (b) @)

50.
option :

(A) Rotation is the movement of the earth o

(B
plane.
Choose the correct option : . ?
B) are correC
(1) Both (A) and (B) 2 4)

3)

et o el 5 ;’fwh .

(4) i = %Gﬁsﬂﬁ%mﬁﬂ 331", %1 Ho T R
L

(B) . -

@ a1 71 7 ) Eﬁm)ﬁ%ﬂ(ﬂ)ﬂm%

i (A ®) @ ?fm(m@%

1) ~

o wE® o
I

P-IT JHII]IIJWIIIMWWM’

) The axis of the Earth which is an ima

F (), (c) AT (d)
e (a), (b) T (c)

——

L sF

Consider the following sentences (A) and (B)-=about motions of the Earth and choose the correct

=
fl its axis.
e

st

= W
=

e
o,
AT

& 35
el o

Both (A) and (B) are incorrect

Only (B) is correct

M(A)am(s)mﬁaﬂﬁmaﬁﬁmmwaﬁn

7y line, makes an angle of 331° with its orbital




I 51. Which of the following statements is/are true about technological devel i ‘
construction from the twelfth century ? o RAPHISEE s
(@) The weight of the superstructure was carried by the shikhara.
(b) Sandstone mixed with stone chips was increasingly used in construction.

Choose the correct option : O

(1) Both (a) and (b) are correct “2)! Both (a) and (b) are incorrect

(3) Only (a) is correct {(4)y Only (b) is correct

Wﬂﬁﬁmwmwﬁmmﬁmwmﬁmtﬁm#aﬁﬁm
? AW

(a)  sfercer = R fomerl R STt fe <t o
(b) Formion & Ssn-geer o TR % D Zhel % g0 F1 I § el B o
el

W& faweq =1 =71 # |
(1) (a) 3R (b) < W&t § @) (a) 3R (b) S TR T &
(3) Fac (a) T T 4) Faa(b) TR
52. Who among the following edited newspaper Kesari which became one of the strongest critics of
the British rule ? O '
(1) Mahatma Gandhi -(2); Lala Lajpat Rai

(3) Jyotirao Phule A4y, Balgangadhar Tilak
FrfafEd § @ S FE7 TS TGN, G&jﬁgawmﬁramwmw ofl, 1 TS o1 ?
(1) e T ) e wed 1

@) wEfeE B ) R e

Which of the following statements are &orrect about Amazon basin ?
(@) This region is characterized by hot and wet climate throughout the year.

(b) People practice ‘slash and burn’ agriculture.

(c) People mainly grow paddy.
Aircrafts and helicopters are also used for reaching various places in the basin.

53.

d
él:oose the correct option :

@) Only (a) (©) and (@) (@) Only @), (b) and (@)
@) Only (a), (&) and 9 18, Only (®), () and ()

mﬁmaﬁaﬂ%aﬁﬁﬁmﬁf@ﬂﬁﬁaﬂﬂaﬁmaﬁ%?
(a) gaﬁﬂﬁﬂﬁaﬂ'{?ﬂﬁﬁﬂﬂ'{ﬂﬁ%m
) i Fd A T Ea § 1 D

(©) ‘eﬁﬂﬂ'@ﬁ:%ﬂﬁ%l “‘“3“
(d) wﬁﬁwﬁw@%h@mﬁawﬁﬁ@mﬁmﬁmw%l

u—gﬁmmwaﬁl
(1) & (a), (c) I (d) (2) &9 (a), (b) T8 (d)
@) Fa (a), (b) T () (4) &9 (b), (c) 9 (d)
44 K

p11 I W



54. In a physical map of India if you have to locate the Deccan Plateau, it will be represented by the
colour :
(1) green @ yelio (3) orange (4)  brown
W*%Wﬁ%mw%waﬁ@%ﬁ, T T8 1 & it o B 2
1) @ ey (3) %ﬁr @) @
T
55.  Choose the Measureg t, control soj €rosion and depie:ﬁn from the foHOng
c (&)
(o) Terrace fa:mmg (d) Inter C;—_Sp;;) ing
Choose the COTrect Option
D@ ©), @ ony @ ®). © (@) onyy
(3) (a), (b), (0) only (4) (a) ©), (d) only
ﬁqﬁ?rﬁﬁﬁ‘@wmaﬂnﬁwﬁﬁqﬁw %g% F T Fif
@) 7= ®  sifr wig
(©) et v d Ta
d) g aﬁi._:%a B
W& o v I~
h
O F5 @), b), ) @ ®), (©), (a)
®) F (), 1), () @ F @), g (d)
56.

(1)  Subhash Chandra Bose

() Pt Jawaharlal Nehry
‘ﬁﬁwﬁm'm%{Jﬁﬁm?
(1) guw<Egsmy

(3) wfed ST Yo 3

S

e “

Who coined the Phrase, ‘Unity in Diversity” 7 T

() Sardarﬁ__ya,l]abh Bhaj Pate]
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57. Consider the statements (A) and (B) about Paramountcy and choose the correct answer :
(A) The Company claimed that its authority was not supreme.

(B) In order. to pl:otect Company interests it was justified in annexing or threatening to annexe
any Indian Kingdom.

(1)  (A) is true but (B) is false (2) #(A) is false but (B) is true

(3) Both (A) and (B) are true ()W-Both (A) and (B) are false
(A)aﬁ?(B)mﬁmaﬁﬁm%mﬁﬁﬁaﬂﬁﬁ%ﬁaﬂwﬁmmwﬁm|
(A) w%mmﬁmﬁwaﬁ'ﬁw

(B) mﬁ%ﬁaﬁm%m%wﬁamﬁaﬂaﬂuﬁmmmmﬁwaﬁw%w
s S o T A o =

1) (A) F@ ¥ AfHa (B) Tew 2) (A) e § afe (B) T
(3) (A) it (B) 3 w& ¥ @)  (A) 3R (B) I T T

58. Consider the following statements about L.aﬁakh and choose the correct option.
(a) Several rivers flow through Ladakh.® 'vff
?"—“

(b) Due to high altitude, the climate is eggémely cold.
(c) Despite being in the rain shadow of ’Fﬁ%lalayas, there is high rainfall.

(d) This area experiences freezing wmdsrgrrd burning hot sunlight.
(1) Only (b), (c) and (d) are correct  (2) Only (a), (b) and (d) are correct
(3) Only (a) and (b) are correct (4) Only (a), (b) and (c) are correct

e % ai # fou TP o o frer g wen e faded F1 TS it
(a) wErE @ TRt Fga o A wwd €1 (O
~J
(b) ﬁwﬁﬁﬁﬁ%mwﬁﬂmﬁ%éﬁ%i
) fememsafesmagdan s et 3= oul g e © |
(c) gftz mﬁﬁ%%%ﬁ s
(d) TE 4 TETA B U 9 S el e STV i ¢ |
—e

(1) 9@ (b), (c) 91 (d) Tt ¥ (2) €37t (a), (b) TN (d) ¥ &
(3) eI (a) AT (b) TE E | (4) el (a), (b) 91 () T T
.8 o a1 T 46 K



/59. Consider the two o
(A) : Those placz glv:en statements (A) and (R) and choose the appropriate option : .‘
(R) : The Earth rcft tEStf of Greenwich will be behind of Greenwich time. ' \
ates from tt : . . ‘
(1)  (A) is true and (R) is falesaes o west and sun rises early in eastern side.
((j)) gott: (A) and (R) are false
oth (A) and '
(@)  Both (A; - (11:) are true and (R) is the correct explanation of (A)
e, . (R) are true E’Jl;lt(R) is not the correct explanation of (A)
R (A) T (R) T foram i asn vt forsres 71 9 Fife
(A) : ST T i & afvem § & s o i @ 9 @)
(R) : 9e=it gdf & ufyem =t SR wTeRR Tt & T e g feen & Sredt 3
(1) (A) 98 & qen (R) T &) ¢

(2) <HI(A)TN(R)TEEE
ST (A) 791 (R) HF'T'%W(RJQA) 1 T T

3)
@) 2 (A) T (R) TE E B (R), (A) F1 FE iR T
60. Watan Jagirs were given by Akbar to which of the following chiefs ?
(1) Sisodiya Rajputs (2) Indian Muslims
(3) Sikhs (4) Marathas
m%ﬁmﬁ—r@ﬁ'ﬁﬁ%m@;ﬂwwmw
o e @ T
hould be :

rtfolio assess%e}t in social sciences s
ds stematic 3
(@) PpPwWP OSEf;llﬂzI: assji, ents and activities of student
tre gnm £f.}2
iy = inly on the preparationt of report card. e
focus ma Yy . dent’s work over a long period 0

61.

(;) accumulation of s
((213 ose the correct OpHOT” 2 (@ ® and (d)
(1)0 @), (©) and (4) @ (®© aﬂ:‘ﬁ (d
@ @ ® £ (C)aﬁgﬁ e @ TR Y '
e o= qe e

e 3 g <
(a) 7 37 b el A T e |
® = ey

_> iiﬁ

Zﬁ & . s (2) (a)’ (b) 91 (d) |

@ et ;
£ 0™ é )

wdt f O g BO™

(1) @ ((;)) o1 () 47 k

G) @

a0



i 62. Project method in Social Sciences involves

63.

(a) Activity (b) Discussion

(c) Experiment (d) Narration
Choose the correct option :

(1) (a) and (b) only . (2) (c) and (d) only
@ @ ®and© o @) (@), (©and (d)
grifees faam o aREs tlzﬁfﬁ et € |

(a) Tifafafy ;mi (b) =i

() wEm & (d) @
P e

(1) Ha (a) 71 (b) 2) a () I (d)
(3) (a), (b) T () @) (a), (c) 9 (d)

Consider the following statex_:n.ents and choose the correct option.

klvestmenta;n non-farm activities in rural areas can reduce the rural urban

Statement (A) :
migration. ...
Statement (R) : Migratiorn, “Thcreases during particular season when there are no agricultural

activities ﬁ’g;mral areas.
(1) (A) is true but (R) is tﬁseé‘
(2) Both (A) and (R) are fa.lsg

(3) Both (A) and (R) are true and (R) is the correct exp
not the correct explanation of (A)

lanation of (A)

(4) Both (A) and (R) are true but (R) is
foetfefiaa o] W faram it it wet forsed 9

T (A) ; T A 3 ey T & Frd, o gl A B
Fa1 (R) : Wﬁmmﬁ%wﬁq@@ﬁ%wmﬁﬁﬁm

Al b
(1) (A)F@ 2 AfFA (R) nJ{%.
(2)  (A) & (R) =i Te1q i‘e’%’
(3)  (A) I (R) Erii Tt ¥ Bi(A) #1 (R) Tét =ame i g |
(4) (A)@R(R)?ﬁ'—i‘lHﬁ%‘ﬁ%m(z\)aﬁ(u)nﬁmqﬁmﬁl

ffafer 7 &

P11 WMy 48



64.

65.

™ ww

Which of the following questions assess the analytical aspect of the cognitive process ?
(@ What are national curricular objectives which can be achieved through heritage projects ?

(b) HO: al‘s methods of history useful in the research of (a) science; (b) art and management
studies ?

(€ In how many regional languages and local dialects “VividhBharati’ programmes
are broadcasted ?

(d) Write a review on two historical serials you have watched.

(e) What are Bharuds ? In which region / State this is popular ?

Choose the correct option : 41

(1) (@), (b) and (d) only 7,32 (c) and (e) only

(3) (a), (b), (c) and (d) only 74  (b), (o), (d) and (e) only

frafafEd § 9 SF-9 W99 ST S F v T8 B 31w ¢ 2

(a) & Usha T Sk o & RO e s ool 3 g S () o
mﬁﬁW(a)m;@)%ﬁﬁmm¢ﬁﬂﬁﬁm%?
‘ﬁﬂﬁﬂ“ﬂ?‘ﬁ’maﬁﬁlﬁﬁ &= ayrersi wE T siferEl 5 gaia fear T o ?
mﬂwmam@mmmmﬁmﬁﬁmr

e s &7 P &/ ¥ T A €7

(b)
(©
(@
" =1 99T FL Y

f ﬁ:;' (a), () (@) i(z) g © aa:(z) y o
(3) ¥ @ ) (c) 3R (d) ggm (b), (©)

Srf =

"R d choose the correct option.
on (R) statements an -
Read the dh R:lj; bé"éf%éouraged to ask questions in the classroom.
0 .
Assertion (A): ; i iyl the intr:sgéft students to open up.
n (R) : il ;

& A)( - true but (R) is 1% .

(1) ( (A) and (R) are false- d (R) is the correct explanation 'of (A)-
(2) R) are tru€ - . the correct explanation of (A).

Ayt - put (R) is 7"
(3) Both and (R) are true

wd
@ B e () ﬁ;q;ﬂ-@ggm@ammmt

Assertion (A) an

mllﬂllﬂlllﬂ“ll]lilﬂll
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66.

67.

68.

p-11 (R

Which of the following may be acquired by learners in a project work that involves engaging
students in authentic, real-world problem-solving tasks ?

(1) Enhancement of creativity and innovation
(2)  Promotion of collaboration and team work
(3)  Development of critical thinking skills g
(4) Improvement of content knowledge and sh_lls

ﬁnﬁﬁw%qﬁmmwmﬁwaﬁm@}éfﬁmgﬁmﬁm—wm%maﬁhm
(1) TR iR Teiian & gfig |

(2) wEEm 3R A w Hi g &)
(3) TR W Hee 1 e |
(4) ool 99 siv e & gam

(1) Russian Revolution (2) ﬁ:;;}ia Carta
(3) American Revolution (4) French Revolution
WA ST & T, T 7 sy forem_fore e 9
() FEEY (@) Haramei 3
3) s wifa | @ %ET;?%T% 3
i

Which of the following are essential elements éﬁ'é;au' trial ?
(2) The trial is held in an open court. & '
(b) A copy of charge sheet and a]] other ev;

given to the accused. " €vidence that the Prosecut

(c)  The defence lawyer is not allowe
(d) Judges decide the matter on the
Choose the correct option :

(1) Only (a), (b) and (d)

® a5
(3) Al (a), (b), (c) and (d) ; 4; fg E:)) -
fadq ﬁ?"ﬁﬁmmﬁwa;%‘mm?j . (b) anq

(a) wm%mwmﬁﬁm
(b) m—wmwwqmm&mmw

() mq“%wﬁaﬁ!ﬁﬁﬂ‘qqaﬁwﬁ ‘-;T!ﬁmiﬁWm%ﬁ
:mnﬂwmﬂmmﬁuaﬂﬁ Q) TR fog
(d) mﬁ““‘lmtaﬂ
wé fawed =1 =59 &t MR Y ¥ ..
|
fly BB @) (b, (o
(3) (@), (b), (c) T4 (d) Tt (ay %ﬁa(a' ) o ()
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69.

70.

71.

Which of the foll .
; 5 owing t i : 5
working in group taskg? echnique is most effective to assess individual performance of
' a student

(@) Rubrics
Multi . ’
(c) Presentation ((Z; 5 u::i] e Choice Question
ortfolio

Choose the correct option :
(1) () and

"’:‘fﬁ(:}q . (2)- (@ and @~ (3) (a)and (b) (4) (b)and (c)
Fefafes ~Ht Yot fafy Fedsame svgw et S o1 Sre-o12 Tga § 9 # @ @ s

F . %
£ 3 )

WWW—WWWE\I? s

b i

(a) wSREH o
. (b) EfaweHT T
& T @) R

(1) (0@ (d) (2) (a) () 3 (@7 (D) 4 () T()

Which region in India has the highest concentration of Adivasi communities ?
(3) North India (4) South India

(2) West I.nd__i?ﬁ%

(1) East India 3y
e & g éﬁﬁaﬁa@quﬁaﬁ@gﬁ%@aﬁﬁ%;
@ wewd O B b i s e iopan . Sty
?%%z: - r (RSl i |
. tatementssa%’curately reflects the concept of plurality in social science
of the following s st . o
F

Which oné
- 2 (Choose the corT

tive%ifff)m social science

'~ curriculum ¢ "
: tain persP
(1) Excluswn of cer P ge in 50 cial science curricular materials
lex langu@

) Use of comp )

- Domjﬂance of 2 sinBl® Ideomg-y d diverse view points

(3) ultiple per5pect1ves an .

@) IndusionOfm Wﬁ@@ﬁmﬁﬁﬁﬂﬁﬁaﬁq—mmmﬁm%?w

ﬁ'ﬂf -a' £
ﬂ'—ﬁﬂqﬁl aﬂﬂﬁ}m
ferhe] aggqﬁ‘? i) PR

@ Wwwﬁﬁ
@) Wﬁ:ﬂmﬁmﬂwm
T e faf y

(3)
(4)




72. Consider the statements (A) and (B) and choose the correct option :

(A) The natural sciences are superior to social sciences and are the domain of bright students.

(B) The social sciences are essential to provide social, cultural and analytical skills required to

adjust to an increasingly independent world.

(1) (A) is true but (B) is false (2) (A) éis-fqlse but (B) is true

(3) Both (A) and (B) are true (4) Bothe(A) and (B) are false

e

W(A)aﬂt(n)mﬁaﬁaﬁmafﬂnﬁfwmﬁﬁgﬁ

(A) Wﬁmmnmmﬁﬂ m%ﬁﬂ%éﬁj&ﬁaﬁﬁrm S ER

() me,mwm@;ﬁwﬁmmﬁmmwaw

1) (A)FF % fipeg (B) 575 € 2 (A
@) (A)3T(B) o T B @) (A) 3 (B) a‘ra‘f_azw g
ience assessment

73. Involving teachers is considered important in }he‘;gdevelopment of social sc

framework to : s
prevailing changes.

(a) integrate contemporary events and
ation only subjeffcéntered and to limit its scope.

by using teachers ___q‘nly as a resource.

elof teachers by using the experiences of teachers.
E Bt

(b) make curriculum and evalu
(c) savetme labor and money
(d) make necessary changes according to the lev

Choose the correct option :

1) (a), (b) and () only
(3) Only (@) (4) (a) and (d) only

mﬁﬁﬁaﬂ%ﬁ@iﬁaﬁ@%ﬁmﬁﬁmﬁaﬁmﬁaﬁm@wm%:

(2) (a)and (b) only

© Wmmaﬁ@wm%wﬁsﬁnmﬂﬁﬂ g 3 ¥ 1 e W A
d) foas & ﬁﬁ%W%WﬁT&iﬁ%?ﬁﬂ@WWqﬁaﬁqaﬁ#ﬁm
(1) Fe (@), () () (2) it (@) 3T (b)
(3) ¥ (a) (4) Fa9 (a) I ()
port IR 52 K



74.

75.

Consider the following st i
Science and choose thge cgigfzt;h%femon (A) and Reason (R) in relation to the nature of Social
Assertion (A) : i i .
(A) rfI'he s9c1al sciences have developed their own distinct methods for dealing with
acts in an objective and systematic way.

Reaso : :
n (R) : Unlike the natural sciences, in Social Science it is difficult to insulate the observation
and analysis of facts.from the pressures of popular sentiment.

e

(1) Only (A) is true by

(2) Only (R) is true P
(3) Both (A) and (R) are true and (Rja; the correct explanation of (A)
(4) Both (A) and (R) are true but (R).is;not the correct explanation of (A)

Wﬁamﬁuﬁ%nﬁaﬁﬁv@ﬁmmﬁmﬁmmwaﬂrﬁmwﬁwﬁﬁnwa@

faaeq =1 999 ST —
AR (A) : arefores o 3 e Stk e s A () @ et &g oroed T i AT

fafert ferpfa #1 €| |
@eh (R) : WWQTW(W)’WWﬁWWﬁ%WQH@%
ST T FaREr 1 g A B 2
1) e (A) TE 2 i
L2
) =ad(R) el B o
3) (A) i (R) 31 W & A (R), (A}f?j;ﬁé’faqm% T;T .
(4) (A)aﬂT(R)aﬂTué%‘m(n),(gg?aam .
o ote democracy ?
Which of the following may be used tjien te d y
(a) people ar€ equal and f;ee _ -
(®) Peopl® e wealthlzfﬂ::s 51 a bettgr way than others
() Peopknézzzlt"; C;ore _ ccountable and rational
() e the comet o7 @ (b)and @
o o @=d @ @ (@) ©and©
1) (@ g BOES
i @A zl %“{3
N i a e e £ g
orft AL 5 agad W0 gerd
@ a1 9T cad (”"(2) (b) 79T (d)
), (b) 7T ()
= ®) © ae1 (d) @4) @
1) ’ ;

_....mullllllm]l“m




76. Match the following and choose the appropriate option :

Skills/Abilities

Sensitivity towards differently abled, showing concern for

Indicators of assessment

(a) Discussion (i) 5
environment ¢
(b) Observation (i) Making 10?_{'—_;1 connections
(c) Normative concerns (i) Reporting{:ﬁf_jfaﬁngf picture-reading and drawing
(d) Explanation (iv) Listening, gj;essmg opinions and finding out from others
(1) (@), (b)), (-G, (d)-G) P
@) (@G, (o)), (-G, (-6 =2
() @-(iv), (b)-(i), ()-(i), (d)-(ii)
@) @-v), (b)-(id), ()-(), (d)-(iii)
ﬁ%ﬁqm‘ﬁtﬁwﬁaﬁﬁﬁmwﬂaﬂﬁaﬁwgﬁ i
ATHAT & Heheleh CrEand/ sroemd
() =i (1) ﬁﬁm@mm%mmmmu
(b) HeEHT (i) s Wf?_j}ﬁr
d 4 Eﬁ"'tm
d) PW?W (V) T, T TR H A R R v
M @-v), (b)-Gi), (0)-Gii), ()G C
(2)  (a)-(id), (b)-(ii), (@)-(iv),. (d)-~(i)
() (@r(iv), (b)), ()-(), (d)-(ii)
@ @-(), ®)-Gi), (0-(), (d)-i)
77.  Lata sells tea at 5.00 am S =
he then e
she cooks food washes clothes et o wakerifrans 4 i o
cleans th ) Yy well. After reaching home
:)'r tea shop. All this can be referred to aes o ?‘}EPS e then goes off to eshESE g 1
Housework (2) Paid w .
ork (3) (Cate givin
- & (4)  Double bi
ARG Ty S 2 T g T B B A
o 8,508 i, ot e o T O
= » TG 9% 319
AT 199l 1 el o & | AR
(1) Twd
(2) YT % @) TR EF (1) Segam
P-11 |}
T 54 K



78.

79.

The Constitution determj ; .
e 10 . Tmines the relationship among people living in a territory called citizen and

(1)  relationship among people and government

= - : _ = i
(2)  relationship among neighbouring countries and government
(3)  relationship among people and co;f)_';ates
(4)  relationship among neighbouring ;::u_.nh-ies
‘ (e
T T i A T A i 3 e e S i w Eskw @

Fruifia =t &1

(1) @il iR TR & o wa

F—
i £ 2}

i

et 2l i TR & A w

(2) ?
D
3) il oftt dafrl & e wa &
( N
e
@) q@ﬁa@'a,—aiau'ﬁu -
O
mmission’s Code of Medlcal Ethics states that every physician should, as
The National Medlcal-lf: drugs which 87 €

far as possible
{Zf* Ancient remedies

‘=—-;..;

.. medicines

(1) Generic™ ds
(@) Global bran
tic medicin€s ‘{ ] $ o G

@ G mq@wmw%:ﬂ*w“ﬁwmﬁa“m’

et sfa®
@ I ) ™

K

g

& m_i_aﬁﬁ; ga‘l?m 55
P e
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80. A large number of people in rural India who are landless, although
th :
agriculture are called as : gh their main livelihood source is

(a) Marginal farmers (b) Migrant labourers

(c) Agricultural labourers (d) Small farmers

Choose the correct option :

(1) (a), (b) and (c) only 2 (®) (C) fmd (d) only

(3) (a) and (b) only ) (© ana (C) only
mwﬁ@aﬁmﬂﬁﬁm%ﬂﬁéﬂ%‘ wﬁaﬁﬁﬁmmg@@aw%,wﬁ%:
(b) e Af eI

(@) e fHE

(a) Hmiq fHaH

() FHE TR
T fagpeg % 941 R

ﬂff‘?.d.

(1) ¥ (a), (b) () ¥ Wﬁsﬁc)aﬁ(d)

(4) A @*ﬁiﬁ ©)

F
Ll

(3) o (a) R (b)

S

»jll Ulll.::i’o’l v.?'

81. Which of the following resources are relevant to discuss the theme ‘discrimination’ ?

(1) Narrative of B.R. Ambedkar’s experiences of looking for a place to stay after returning v

India.

(2) Advertisement of a woman washing clothes in a commercial.

(3) Text of Ashokan inscriptions. )
(4) Universal Declaration of Human Rights. :

¢ ygura forma R = A F I, Wﬁﬁﬁ%wm%j

1) AR aﬁm%mﬁﬁ%wmﬁ%@m@%aﬁﬁmw
(2) T faa # FG i gu e HI T -az.‘_'ff;?i-s

(3) o & wfver %1 e

(4) TR 1 Afeen e
P11 TR A 56

= 3
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82.

83.

A teacher wants to divij
will be the most releva;lctle 30 students of her class in small groups for a task on diversity. Which
way to make small groups of students ?

((;)) ;:zordmg to students marks in last exam from high to low
erogenous random groups based on a

(3)  As per students comfort o

1(;)%[ Benchwise from front to back

(1)  Toenfeii & froch wien & om sigt % wed %9 4 -

(@) T el ae < e da v sia & ©

(3) Taenf¥iai =it glawmar -

(4) M 9 9IS & wH H Jo1 % HA % FFER

"
€€
i

™

J

Which of the following provide scope to develop critical thinking skills ?
What role did the Yamuna play in the layout of the L{I}ig"lal city at Shahjanabad ?

(@)
=
(b) What is the purpose of press conference ? How do:_gsj_]?e press conference help you get
information on what the government is doing ? fj:_

examples. 5

(<) Differentiate markets with illustrative %
(d) It is necessary for the civil servants to be politically neutral. Explain.
(e) Availability of water is a major factor affecting the settlement pattern. Discuss.
" P

t option :

Choose the C()JHBC ( dI; and (e) (2 Only (a), () (d) and (e)
&) (c) and (d) (4) Only (b), (), (d) and (&)

e I 1 forehfad i I ST TG HTAl 2

R J @ -
e wﬂ@gmm@jﬁmwﬁﬁuaﬁﬁ(mm)

g J
?’-'—3 il

gl
WWW%? Py
(b) iy Al g7 s :J:rt;
s T s <
' T
(d) uwh qa et &ﬁ'ﬂ‘ﬂﬁﬂ?ﬂﬁﬁﬁw(}; | |
e gfed
(e S Emaqqaﬁl @) Fad (a), (©) (d) 3T (e)
wdt ) 0 @ 5 (©) gy T O it (e)
@ FEE @
oy @O e =

il



84.

85.

86.

P-X1 (IR ATAW 58

A

Fundamental Rights and Duties of Indian Constitution are written on the walls of social science
classroom. This will make children learn primarily through

(1) Memorisation (2) Reasoning (3) Observation  (4) Imagination
e P ) Sl i S S e SR wde ) e T d e R

& ¥ g1 fg@m 2 X
(1) 955 & 2) 3) arc@cﬁ (4) e

Which method would you use to collect informatiori about the actual and correct status of

earthquake victims in your area ?

(1) Project method (2) Problem-solving method

(3) Inquiry method (4) Survey method

319 39 & 5 Wmmﬁﬁmawmﬁggﬁﬁmmmammﬁm

(1) afrem fafy (2) Twen-gEEH,
o

(3) e/ gea fafd @) TdEm ﬁf%r{ 2
£V

ik
.1“

L2 o ; ,
According to Indian Constitution this kind of reservation is not a violation of the right to equality.

(1) To ensure jobs based on nepotism.
(2) To give jobs to close kith and kin of political leaders.
(3) To give special treatment to someone in order to ensure equal opportunity.
To ensure jobs to people from States where an ele;; representive or Minister comes from.

©)

v e S SR 59 ST 1 SRS W 35 S 1 St e &
(1) - sifiTErg & e o I G FA

() s wh s ) A _,_j

(3) TuA IEER gifed w0 % fag R % e faly seen ST
@) o oedi & whafafe o1 welt ST AR € S TS b A ] A



87.

88.

Pqp

i e
Read the Assertion (A) and Reason (R) statements carefully and choose the correct option of th

following :

Assertion (A) : Values can be taught, too.
Reason (R) :  Social studies is a gy
(1) (A) is true but (R) is false,

(2)  Both (A) and (R) are false,

(3)  Both (A) and (R) are correct ang (R) exﬁé_if\s (A).
(4) Both (A) and (R) are correct bu .

bject through which all basic values can be taught.

t (R) dOéf}'_r_(;t explain (A).

wifirenery (A)amwmmmwmv@;ﬁrﬁmﬁf@ﬁwaﬁmﬁﬁﬁ :
AHT () ; ﬁﬁmﬁ@ﬂgﬁ%ﬂmm%‘i?

T (R) : Wmmﬁanaﬁﬁw%ﬁnﬁwaﬂ

(2)  (A) 7 (R) Y eraey ¥
©) (A)aﬂz(a)a‘m‘fwér%aﬁtm)aﬁ(n)a@m%
@) (A)ﬁt(k)ﬁva%%mmﬁ(m@ﬂﬁm%

',Q'M"EF

f

)

Which of the following should be considerecf?‘_ﬂ’sf ender neutra] atmosphere in 4 schoo] ?
(a A group of girls are making Rangoli . :

o

U, JJ

f

(b) A group of boys are'volunteering in amfgal function,

) A group of girls are preparing for dance COompetition,
(d) A group of Boys are arranging refreshmentsg for guests.
Choose the correct option :

(1) (a)and (¢ (2) (b) and (d) ) (a) and (b)
ﬁt{?@ﬁﬁﬁﬂﬁ?—?ﬁﬁuﬁl%@ﬁa@ﬁ‘f@gm

() e % o W g el
) mﬁwmmﬁaﬁmﬁﬁmmg‘%
() refrll % FE BRI 70 WA F g

We forered &1 99 HH |
d 3 T (b
W @To @GR R gy (4) (®) Ter (o
59
LT

. R




N

nts !:0 make rules for their class. These were then written on
their consent to follow these. The chart paper was pasted in |
e students. This can be an introductory activity for which of

89. A Social Science teacher asked stude

class, so that it can be referred by th

the following topics ?
(1) Democracy (2) Markets (3) Diversity (4) Marginalisation

wﬁﬁﬁﬁﬁﬁﬁﬁﬁaﬁﬁﬁ%&m%mwmﬁmteﬂtﬁﬁmmaﬁfmm
forg < €| mﬂaa%ﬁﬁuﬁfa?wa@wﬁé%%l 2y =S e Feret fen S %, e = 5@
st 3 A TR v H | sﬂnﬁﬂﬁﬁaﬁﬁﬂﬁﬁmﬁwﬁ%{ﬁ%@ﬁﬁnﬁﬁﬁmﬁmﬁ

o 11 THAT © 2

4, b

%1#"

(3) fafauam (@) wEEH

'1.
!
H i

J

(1) P EIGES (2) SR

|t"""=l-
o
L

90. The purpose of diagnostic evaluation isto:

(a) obtain information about learner’s characters

(b) get to know about the knowledge students already possess

i

f

i _I!L_;w

(c) classify learners into categorie

Fy

A

o

!
Lt

-

(d) to assess the learners

i !‘:W
A

L
44

Choose the correct option :

&

M) @and @ 2@ @md®

3 () () and (©) ey

@) (), (©and (d)
W@mmmsﬁw%:

(a) Forerfefail 3 ol o o & T 9 A

(b) Feranfeii 3 gd 9 o AR H ST

) i A g T,
O

(d) ferenfedi =1 S ,ﬂw
W& faweq 1 989 H —
1
O

(1) (@) 3R (o) ‘) (a) AR (b)
@) (@), b) 3R () @) (b, (© TR () (

P11 (IO 6D
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PART - IV
LANGUAGE -1 : ENGLISH

g

PORTANT : Candidates shoyld attempt questions from Part-IV (Q. No. 91-120), if they have opted

for ENGLISH a5 LANGUAGE-I On.%
{

=

Read the passage given below ang answer the questions (91-99) that follow :

1.

91.

92.

93.

P-T1 Illllllllllll

On1 : . .
River? 1]:1 ?;}:ia;y tiioi’ﬂsjc‘i’galful\ilmf%hng things happened. A plane crash landed into the Hudson
Bit then, sttt elseoh ew York City. Thepilot, crew and 155 passengers escaped safely.
immediately tweete dg ot aﬁg)er}ed... Jim wds{Tiearby and watched the event happen. He
sraad quickly, Pegple e had just seen a p%_aﬁg crash in the Hudson. From there the news
offier paopls ())’n e gtr C;)ntacted him unmec.ilsa_t?ezy apd as]?ed him what was happening, and
Orddi sl - erfle thDk pf_lotos apd vuigg% with !:heu' phones and posted them online.
newdus lmch.ya_r}:nell?s Su. y became journalists. Itwas 15 minutes before the news broke on official
Photos, videos and tweets from ordinary people at the scene of dramatic events now provide the
words and images that describe events in the news. When a meteor exploded over a Russian city
in 2013, millions of people around the world watched videos and photos of the event on Facebook
and YouTube. Social media can also save lives. In January 2010, an earthquake hit the Caribbean
island of Haiti. The government said that there had been an earthquake, but they didn’t give
many details at first. Meanwhile, people living in the disaster area were posting photos and eye
witness accounts on Twitter and Facebook and=téHing the world that it was an emergency and
houses were collapsing. A local radio presenterdised t%lis information to help people find family
members, and people even phoned his program#o-ask if their relatives were safe.

media, but false stotiegispread just as quickly as the truth. Some of
thers are deliberagﬁ__@axes. Hoaxes remind us that not everything

News travels fast on social
i i ange our lives for the better.
But social megi? can ch g

these “facts” are erroneous, O

ish is reliable.
eople post and publish is re

people p [
News on social media : @) arf jI:;ignj_ficant
(1) are deliberate hoaxes (4) travel fast

. tatements .
Read the followmghsd o 15 January, 2009 2 0
@ A plane crashe od, but the pilot lost %_éﬂe.
() 155 passengers escap! ted pictures on Facebi;—'“

Jim, an onlooker, post® T incorrect __
% a) is correct, but (b) 27 (rrect N
g; (a) (b) and (c) are aut u;ic: () is incorrect k
’ are correct incorrect

@ @@ bt @ and O S
4) (% . atehed by peopie on :
( ) osion - 2013 in Russia :;.’;IS wf«'acebook and YouTube

0sio
The meteoréjmedia handle® §8) i YoiTO

T



94.

95,

96.

97.

98.

99.

p-1

Identify Parts of Speech of the underlined words in the sentence given below :

‘But social media can change our lives for the better .’

(1) verb, adverb (2)ynoun, adjective
(3) noun, adverb (&y~] verb, adjective
o
N

Complete the given word analogy : O

dramatic : exciting : : hoax: 2.
(2) excuse = (3) media posts (4) deception

=
E =

(1) example
Arrange the following events as mentioned in para 1 in the correct sequential order.
(a) Jim watched the crash and tweeted.

(b) People started contacting Jim for updated news.

(c) A plane crashed into the Hudson Rﬁ

(d) The news of the crash was broadcast. 15 minutes later.

1) @->00-@->0

1y
a

L.

@ ©-@-0->0 ;
3 @©@-0->d- (a) i
@ ®B-0O—-0@- ) .

)

T B
-+

‘Some of these facts are erroneous /. The antonym for the underlined word in the given sentence
(1) invalid (2) surprising (3) faultless (4) inaccurate

Why should we not take news on social %i:ééia lightly ?
(1) They can change our lives for the etter.
(2) News posted are hoax and confusifigi |
(3) The facts are erroneous. E
(4) Strangers can call you to seek Morﬂon'

O
Ordinary people suddenly became journalists means :
(1) they started contacting Jim to know the details
they left the jobs where they were employed

(2
3) they started posting news-bits pictures and videos on social media
@) they headed towards media houses to seek employment

\IIIIIIINIMIIIIWIHIIHIII 62 K




E/

Read the poem given below and answer the questions (100-105) that follow :

Great, wide, beautiful, wonderful world,

With the wonderful water round you curled.

And the wonderful grass upon your fb‘tze-?St

World, you are beautifully drest. ;;_:
The wonderful air is over me,
And the wonderful win is shaking the tree,
It walks on the water, and whirls the mills,

And talks to itself on the fops of the hills.
You friendly Earth! How far do you g 0:

With the wheat-fields that nod and t j—_ivers that flow.
With cities and gardens, and cliffs, and isles,
And people upon you for thousands of miles ?
Ah, you are so great, and I am so small,
I tremble to think of you, World, at all;
And yet, when I said my prayers today,
A whisper inside me seemed to say,
"You are more than the E':;E, though you are such a dot,
You can love and think, 3nd’ the Earth cannot!”

100. The wind in the poem talks to - %_if%
(1) clouds (2) hills B3 (3) e (4) trees
AP
101. In this poem, the poet describes the gri::':
(1)  beauty and vastness of Earth &3 A2)  life in the cities
(3) the Earth, its present and past  (4) the plants that grow on the Earth

102. What does the underlined word refer to ?

‘It walks on the water, ...

(1) wind (2) Earth o) (3) river (4) grass
103, In the line, “with the wonderful wate;.umund you curléd', the word ‘curleqd’ means :
(1) mounted (2) turbulent, | (3) arched (4) surrounded
LD

104, Identify the figures of speech in line4and line 4.
(1)  alliteration, personification [~2) simile, alliteration
(3) anaphora, personification (7 (4) alliteration, metaphor

105, |5 the 3 different things (in stanza 3) found on Earth that make it great.

(1)  wheatfields, trees, whisper (2) cities, grass, mills
(3) rivers, gardens, cliffs (4) isles, oceans, people

U g 63
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106.

107.

108.

109.

110.

111.

vl (1 T

The impact of tests and assessments on teachers, learners, and materials is called

(1) Classroom effect (2) Reinforcement
(3) Corpus effect (4) Washback effect

Match the language teaching methods in Column - A with their understanding or related activities

in Column - B :
Column - A
(a) Communicative Language Teaching

j__’_-ﬁ Column - B
:_——ij Socially acceptable and contextually

__F1 appropriate language

(b) Direct method i%G) Silent reading

(c) Grammar Translation —ii) Written literary texts

(d) West's New Method ;E'V) Grammar is taught inductively

(1) (a)-(i), (b)), (©)-(id), (d)-(v)
(2)  (a)-Gi), (b)-(), (©-(iv), (d)-()
@) (a)-), (b)-(iv), (©)-id), (d)-()
@)  (a)-(v), (b)-(i), (c)-(i), (d)-0)

Which school of learning believed that language; whether verbal or non-verbal, takes place through

the process of habit formation ? ey
(1) Cognitivist 2 f-gteractionalist
(3) Functionalist (4) i== Behaviourist

=
5% §

A language teacher brings everyday objec _’__s_g_gh as newspapers, menu cards
teach the students of class V. Whiat is she doing to make learning happen ?

(1) She wants her students to learn Eng]js__&;jrough real life like situations.
(2) Sheis creating awareness in the students.
She is using Juthentic miaterials to make her teaching more realistic and useful.

and train tickets to

®)
(4) Sheis trying to help her students to learn multiple languages.
Which of the following statements is NOT true about languages in India ?

(1) Sanskrit is a Modern Indian Language..
Hindi is the lingua franca of the India?“ s_éb—contj_nent_

2) i
According to the Indian COI\SﬁfUﬁOH,i T 'jlish is an Associate Official Language.

@)
(4) According to the list of Eighth scheduleof the Constitution of India, there are 22 languages:
T

Multilingualism in India intends teachers toﬁderstand :

(1) ‘alanguage’ policy should be framed i!_nz:T;djverse society

(2) language, identity and culture are Seﬁ'éT__f"a'ie apiikiag

(3) communication happens, and social cohesion is maintained

(4) minority languages should be clubbed with dominant languages

64 K




112. The time and place of the story are called the .
(1) Plot (2) Climax (3) Theme 4) Setting

113. Listening involves :
(1)  using prior knowledge of the subject
(2)  recognising sounds and deducing the meaning from it
(3)  hearing the sound, decoding the sounds as they are
(4) guessing the content

114. Which of the following is NOT an important factor in planning a listening lesson ?

(1)  Gender of speakers. (2)  Number of speakers.

(3) Pausing the recording. (4) Speed of delivery.
115. Which skill of language is known as receptive skills ?

(1)  Reading and Writing (2) Listening and Reading

(3) Listening and Speaking (4)  Speaking and Writing

116. A teacher gives a task to familiarise the learners with the vocabulary used in restaurants. What
among the following should be objective of the lesson ?

(1)  To introduce the text about a holiday destination
(2) To develop critical thinking

(3) To acquaint the learner with the lexical items

(4) To familiarise with the grammatical items

117. In a language class, students form groups under the guidance of a teacher and present an
advertisement on a given topic. Learning a language in this way is called

(1) Language games (2)  Guidance and counseling
(3) Collaborative learning (4) Competition and rivalry

118. Linguistic function such as intonation, tone, stress, and thythm are known as :
(1) Phonetics (2) Pragmatics (3) Poetry (4) Prosody

119. Ina language class, a teacher asks a group of students to act as purchasers, property sellers, landlords
and tenants while other students are asked to watch them and enjoy their conversation. Thig

activity is called -
(1) Acting class (2) Guidance (3) Roleplay (4) Drama

120. Schools should follow additive bilingualism because it :
(1) promotes the child’s language but not the culture
(2) hinders the development of the first language =
(8) wvalues the culture and language of the child
(4) gives importance to teaching English as a second language

S T % s "R



106. The impact of tests and assessments on teachers, learners, and materials is called

(1) Classroom effect (2) Reinforcement

(3) Corpus effect (4) Washback effect
107. Match the language teaching methods in Column - A with their understanding or related activities
in Column - B : a0

Column - A

(a) Communicative Language Teaching Hiﬁ Socially
{7l appropriate language

(b) Direct method @) Silent reading
(c) Grammar Translation —(ii) Written literary texts
(d) West's New Method —@fv) Grammar is taught inductively

(1) (a)-(ii), (0)-G), ©-(), (D-(V)
@  (a)-), ©)-G), @), @-5)
@) (@), b)), @i @D
@) (@)-Gv), b)), @D, (@0

~J  Column-B
acceptable and contextually

ot

108. Which school of learning pelieved that languagez whether verbal or non-verbal, takes place through

the process of habit formation ? -
(1) Cognitivist (2) ;vé[ﬂ_teractionalist
(3) Functionalist 4) 7 lthavi-'ourist

I
v

z

i’
h

i

109. A language teacher bririgs everyday objeéftsj_é&h as newspapers, menu cards and train tickets to
teach the students of class V. WHat is she doing to make learning happen ?
(1) She wants her students tolearn English-#hrough real life like situations.

(2) Sheis creating awareness in the students.

(3) Sheis using authenticmaterials to make her teaching more realistic and useful.

(4) Sheis trying to help her students to learn multiple languages.
Which of the following statements is NOT true about languages in India ?
# 7%

(1) Ganskrit is @ Modern Indian Language. =
Hindi is the lingua franca of the hldja?’séb-continent_

110.

(2)
(3) According to the Indian Constitution,g Jlish is an Associate Official Language.
(4) According to the list of Eighth sched i the Constitution of India, there are 22 languages.

111. Multilingualism 11 India intends teachers to Guiderstand :
a ‘a Janguage’ policy should be framed in a diverse society
(2) Janguage identity and culture are sel;;ara e entities
3) Communication happens, and social cohesion is maintained

(4) minority 1anguages should be clubbed with dominant languages
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112.

113.

114.

115.

11e.

117,

118.

119,

120,

Py

-

i lled the .
The time and place of the story are ca ST — ik
(1) Plot (2) Climax (3) Theme (4)  Setting

Listening involves :
(1) using prioy knowledge of the subject

(2) Tecognising sounds and deducing the meaning from it

@) hearing the sound, decoding the sounds as they are
4) guessing the content

Which of the followmg is NOT an important factor in planning a listening lesson ?
(1) Gender of speakers. (2)  Number of speakers.
G P ausing the recording, (4) Speed of delivery.

Which skil] of language is known as receptive skills ?
(1) Reading ang Writing (2) Listening and Reading
(3) Listening ang Speaking (4) Speaking and Writing

A teacher gives a task to familiarise the learners with
among the following shoylq be objective of the lesson

(1) To introduce the text about 4 holiday destination,
(2) To develop critical thinking
(B) To acquaint the learner wigh, the lexical jtemg
(4)  To familiarise with the grammatica] items

the Vocabulary used in restaurants. What
?

guidance of , teacher and
PIC. Learning 5 language in this way is call [-Jresent an
(1) Language games - (2)  Guidance and Counseling — ==
(3) Collaborative Ieam.ing (4)

Competition and rivahy

Linguistic function such as intonation, tone, Stress, and thythm

(I) Phonetics (2) Pragmatics 3) Poetry @ Pmsody
Ina language class, a teacher asks a group of students ¢, actas pyy chasers,
and texg;ts while other students are asked to Watch them ~ er\jo&; f;;‘;}i)rezty seﬂerS,_lan dlords
activity is called ; Omf’ersatmn. s
(1) Acting class (2) Guidance (3) ROleplay ” s
Schools should follow additive bilingualism because g .
(1)  promotes the child’s language but not the culture
(2)  hinders the development of the first language
(3) values the culture and language of the child
(4) gives importance to teaching English as a second language
65
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PART - V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt éﬁestions from Part-V (Q. No. 121-150), if they

have opted for ENGLISH as.L NGUAGE-II only.

Read the passage given below and answer the q:g?:étions (121-128) that follow :

1.  Chocoholics no longer need to feel guilty agé_:i their desire for chocolate. They are simply the

victim of the genes, scientists have found. TEE:S_B called “sweet-tooth gene” has been identified by
separate teams of researchers and helps explain’ why some find it harder to resist chocolate bars
and cream cakes. It also raises the possibility of designing a drug which could “switch off” the
gene and help people resist sugary foods. Children, in particular, risk their health by eating too
many sweets and chocolates.

2. To identify the gene, research teams conducted almost identical experiments using mice which
have differences in their ability to taste sweet foods. One of the team members said “A sweet taste
receptor recognises the sweet content of food-and initiates a cascade of events which signals to the
brain that a sweet food has been eaten.” He Eﬁtiler added, “The same gene exists in humans, so it

means that if your parents have a sweet toot_fi then you probably will as well”.

He said, “We have always known that somg:_‘ pebple have a sweeter tooth than others. But it has
also been proved that if you are gradually expioSed to less sugar, then the body becomes accustomed
to less. They will be satisfied with a lower levet of sweetness. Doctors warm against any form of

[$5]

"

gene therapy which seeks to deactivate the§sweet gene. "We have produced this gene through
evolution because sweet foods in nature are’TOt poisonous, they give us energy. We all need to
have some sugar in our diet,” claim scientists. US researchers are using this discovery to develop

artificial sweeteners without any after-taste.

121. Having a sweet tooth means :

(1) teeth being sweet to taste ey

(2) teeth becoming decayed due to sugar)}ffgﬁéd items

(3) buying sweet food items from shops

|

-
-

(4) being fond of sweets and chocolates

EE =
£5 £

122. Doctors are not in favour of gene therapy béfc_ﬁ_&se .

(1) People will feel guilty after going mrof?gkﬁ.-it,

(2) Ttwill enhance sugar levels in the body-~

(3) Sweet foods give energy to the body.

(4) Itis poisonous.
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123, Accordi.ng to doctors, sweet foods are -
(1) Poisonoyg

(2) deactivated genes
(3) dangergyg (4)  energy boosters

124, The Phrase * - - initiates 4

Cascade of events’, means :
1) signajs give

N to the brain

2 1o Start a serjes of Occurrenceg

@) to pPut a stop to orderly eyents

“4) to halt ang hinder Sequential events
125. Read the Statementg given below

(a)

1) () and () are incor
(2 (@), (b) ang (c)
3) (@) and (c)
(4) () and (b)

Tect, (a) is correct
are all incorrect

are incorrect, (b) is correct

are incorrect, (¢) is correct

126. ‘Chocoholics’ are people :
(1)  who are fond of chocolates

(2)  who are makers of chocolates
(3)  who hate chocolates

(4) who enjoy both chocolates and alcohol

127, Identify parts of speech of the underlined words in the Biven sentence .

“Doctors warn against any form of gene therapy which see

ks to deactivate the SWeet gene’.
(1) preposition, noun (2) conjunction, — |
(3)  preposition, adjective (4) adverb, adjective

128, Complete the given word analogy : g
accustomed : habitual : : initate 1 ? r
(1) start off (2) hinder (3) halt @) complicage
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Read the passage given below and answer the questions (129

1

129.

130.

131.

132.

133-

p-11 l

-135) that follow :

Eve

Vﬂ];;egqc‘:a;ﬁ \Tj::dwe f;«;rould sp?ed through a village lined with waving Tibetan children, The;

Small clusters of si ler and so inviting that Dorje was 10 showing any signs of slowing i:lu::ﬁ*fnlr

foothills to gai “‘._3,9 and d_ngle storey buildings with walk-in cour ards: ]'C"Sﬂffd together in thé

EnVironmentg anV Iﬁaxunum exposure to the sun. The houses ooked sol.ld.f'Built for the hargy

o . Walls are n}ade up of stone to waist height and finished off with mud bricks to the
 Tin cans lined the window ledges, with the bright orange of 1ds in full bloom livening

marigo
up the black-and-white of the houses. .
ags stood high into the wind from the top of the

?ll;aanches of trees adorned with colourful prayer fl

t rf)ofs. The auspicious blue, white, red, green and yellow colours of the fabrics stood out against

the rich blue of the Tibetan sky. Each prayer flag carries a picture of Lungta, the jewelled dragon
the flag flaps in the wind.

horse, who carries the owner’s prayers up to the divine every time
which look quite out of place in

The larger villages have healthy trees, usually willows or poplars

’_the generally treeless landscape. Wood is a precious commodity in the highland areas of Tibet and

is never wasted. The few shrubs which grow wild on the hillsides are harvested for use as brushwood
to get a fire started.

and each courtyard wall is piled high with sticks gathered from the mountains
The lack of solid fuel in the shape of wood isnota problem for the Tibetans, who have an ingenious

wood substitute : yak dung.

The phrase ‘courtyards jostling together’ implies :
(1) being oneon top of the other (2) beingin close proximity

(3) being very far apart (4) beingin different sizes and dimensions

t of Tibetan houses as Jescribed in the passage is incorrect ?

What aspec
d bricks.

(1) Roofs are made of mu
(2) Theyare solidly built.
(3) Walls are made of mortar and cement.
Tin cans line the window ledges-

(4)
Why do the willows an% oplars look absurd in the landscape 7
(1) Becausé the landscape is generally treeless.
(2) The other trees camouflage them.
(3) They aré stunted shrubs
(4) They have minimum pranches and leaves.
Complete the given word analogy -
recious valuable * ingenious : ﬁ?_d
1(31) geni” (@) practica (3) theoretical (4) inventive
o dungie 95t 7 the Tibetans as a substitute for
Ya : -
(1) fire (2) woo (3) buildings @) marigolds
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134. Read the following two statements :

i houses
Assertion (A) : Wood and sticks are piled high against the courtyard walls in the
Reasoning (R) : Wood is found in abundance across Tibet
(1) (A) and (R) are both incorrect
2) (A) is correct and

(
(3) (A)is incorrect, byt (R) is correct

(4)  (A) is correct ang (R) is not the reason for it

(R) is the reason for it.

135. Identify the underlineq words in the given sentence :
The lack of solid fuel in the shape of wood is not a problem for the Tibetans.
(1) noun, noun (2)  verb, noun
() noun, adjective (4)  adjective, noun
136. India’s Ia.\nguage in education policy (Three Language Formula) attempts to promote
(1) B gual education with the focus on Hindi
) Mother-tongue based multilingualism
(3)  Multi language education
(4) Monolingyai education
137. wll;actli?s a short story which hasg animals as the main characters and teaches an explicit moral
called ?
(1) Science Fiction (2) Travelogue (3)  Fantasy (4) Fable
138. Which of the following statements are correct ?
(@) Dyslexia is a reading disorder. -
(b) Dysgraphia is a writing disorder.
(c) Dysgraphia is a reading disorder. -
(d) Dyslexia is a writing disorder.,
(1) Both (a) and (b) are correct {2) Both (c) and (d) are correct
(3) Only (a) is correct (4)  Only (b) and (d) are correct
139, Rita, a government school teacher, uses Vvisual devices ang language mes to ¢
class VI% students. Which principle of teaching is Rita applying ? o © teach Enghsh to
(1) Principle of motivation and interest
(2)  Principle of correlating with life
(3) Principle of natural process
(4) Principle of practice and habit formation
140. What is NOT true about top-down processing ?
(1) Listeners make use of the knowledge of the world
(2) Listeners need to understand every word
(3) Listeners rely on their background knowledge .
(4) Listeners make guesses about the intended meaning
73
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141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

i i i £ 7
ich tool is not ideal for formative assessmen '
g)hm PrziECt (2) Class presentation

(3) Assignment (4) Paper pencil test

Assessment done throughout the teaching-learning process to clarify student learning and
understanding is called i .

(1)  Assessment in learning (2) Assessment as leammg

(3) Assessment for learning (4) Assessment of learning

Learners should be exposed to language, and errors are evidence that learning is taking place is
advocated by :

(1) Humanist (2) Psychoanalyst (3) Behaviourists (4) Cognitivist

Creativity in language education is :

(1)  classroom activity using new methods of teaching.

(2) classroom material using communicative language teaching.

(3) open-ended classroom tasks which allow for different interpretations and answers.
(4) merging elements from different subjects to understand something.

Which is a tool that allows for a number of synchronous and asynchronous online teaching
opportunities ?

(1) Television (2) Padlet (3) Textbook (4) Railway ticket

What is NOT true about errors in language learning ?

(1)  Errors are crucial aspects of the language learning process.

(2) Errors help to understand the process of second language acquisition.
(3)  Errors hinder the language learning process.

(4) Errors are not always bad and help in learning.

In a second language class, a teacher played audio on ‘Health is wealth’. He then distribute

handouts and asked the students to tick the correct answer from the gi . 2RRLL
the lesson was to enable the learner : given option. The objective 0

(1) tolisten, to analyse the ideas (2)

to memorise the lesson on h
(3) to hear the lesson on health (4) to engage the learners with za:aﬂslkand wealth

When is International Mother Language Day celebrated ?

(1) 21t February  (2) 13t April (3) 1% Janua
ry (4) 14t Februar
| Y
Identify the type of email you would write if yYou were writin
(1) Business (2) e

gtoa coll ) )
(3) Informal Correspondence eague who is your friend

(4) Formal

Using everyday objects to teach language i

(1) Teaching aid %2)15 C;llletd

3 Reali X .
oo ) Language games

p-11 (AR
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